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Pl 1-;;:i R:t fui a 7 (tmf) >r~~n # ~ qi~ ~, 

en~ I 3fR qi~ Il I ~ Gf.TT qi~ cfiT 

tflqlj 111icrch w~ ~ 3ffi ~ ~ ~ F 
cfiTWW'fcfi<:~~~: 

(a) Gf.TT qi~ 3ffilf - 3ffilf ~ t 3ITT 
qi~ 11, qi~ I cfiT ~ (9 tS2,l cfi(O I t 

(b) Gf.TT qi~ ~ -3ffilf ~ t ~ 
en~ II, qi~ I cfiT ~ f9\Sllcfi<o1 

~t 
(c) qi~ I~ t, ~ qi~ IIl@"d" t 

(d) qi~ I llBcr t, ~ qi~ II~ t 

1. qi~ I : "(ltfUT "@cTT "ITTlr: 3mf-
-3Mlcfikcsiti # ollc!t;I< # ~ 
~®t I 

qi~ II 3mf--a tSO I cfi R.csi ti cfiT ~ 

2. qi~ I 

~~ti 

ft1<f,1c: 3l'9'"'1l ~ ~ ~ cfiT 
~~T~~~~~~ 
~~G&id l ~ I 

qi~ II : ft1(111c: cfiT ~, Sl@~lfB ~ 

llltllll U ~~T ~ ~ ~ 

>fcfif~T cfiT -3 ffi ~ i:h«TT t I 

3. qi~ I : cfim-cfim ~ ~ ~~ ~ 
m~~~'~m~ 
~~~m~~~~ 
lWf Ria'h~cti ~~ ~ 
1omih;;~mmt I 
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qi~ II : Ri~lllcfi ~~ Zite1Fal.-5:c1,l u 
~ ~ >fcfif~T ~ 9(1ctd'1 ~ 

tf~3ltfcRRt"cfi"R"UT~ " ' 

~t , 
4. qi~ I : 'llmf ~ <l¾llla l, m qf'~ 

~~TT u ~T&IBITTT ~ ~ 

(1Zil'1l@cfi ~ ~ 

fer~ Sl@tS61 ~ <T{ 2IT, 
~~u ,~, ~ 
'~c-9 1~a >llrtn' (~R~R.ct 

~f<h 1 ~'') 2fT I 

qi~ II : trf'~ ftl~ l-illct lG <fl Sl@mill l 

~~# ~ l(ctlll ( 1\Slllld l '~ 

~ Sl@mill lJTT ~ m, ~ 
~ ~ ~ "cfi"<cTT ~ MttcRl 
si@fs;h21 1 # ~ wa,- i· m , 

5. qi~ I : &fl~T ~ Sl ll-fl folcfi 

'!_<1ti~ ~ 3TT'1H ll 'il cnl ~ 
~ ~ ~ I (ctl ll i:ifrn 3ITT 
Aie1 fcllfl cfiT 'llmTT ~ ~ I 

en~ II : &fl~T "ftm ~ 1783 # ~ 
cfif,flT cfiT "{fm 1785 # ~ 

~~ ti~a1~'-~ I 

6. qi~ I : GIGl~T{ ~ ~ ~ ~ fcfi 
~ ~ ~ ~9ct l~a m ~ 
irT ~ 

1 ml1fcla 3lfu~' m 1 

~~ ~#~~T ~ 
-if@T cTT ~ ~ 3lfucn ~ 
~m~m, 

'ch~ II : ft I~ I-ill ct I ~41 ~ fer~ m fcfi 
mv.r cfiT cx:rT9q1 't.flct l~l "R~ 
~#~3TTlTT<Fnm"{fm 

~ rn 3TTtf # 3TTtJHchlcfi(O( 

cfit 3ITT wrfu m I 
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The following 7 (Seven) items consist of two 
etatements, Statement I and StatPruP.nt TT 
Examine these two statements carefully and 
select the correct answer using the code 
given below : 

Cude: 

(a) Doth the. statements arc individually 
true and Statement II is the correct 
explanation of Statement I 

(b) Both the statements are individually 
true but Statement II is NOT the 
co1Tect explanation of Statement I 

( c) Statement I is true but Statement II 
is false 

(d) Statement I is false but Statement II 
is true 

1. Statement I : Plantation fanning has 
mostly been practiced m 
humid tropics 

Statement II : The soil of humid tropics 
is highly fertile 

2. Statement I : Chameleon changes its 
skin colour to match with 
the colour of the 
surroundings 

Statement II : The skin of chameleon 
emits light of the colour 
of the surrounding through 
fluorescence 

3. Statement I : Occasionally we see two 
rainbows together, the 
primary rainbow with 
another less intense 
secondary rainbow about 
10 degrees away 
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Statement II : The secondary rainbow 
<1ppr.r1rn clue to refraction 
after a reflection of 
sunlight from the water 
droplets 

4. Statement I : Nationalism in India, which 
was assigned a privileged 
position by its western 
educated political leader­
ship, was a 'different', but 
a 'derivative discourse' 
from the west 

Statement II : Indian nationalism as a 
response to western 
impe1ialism was ' like all 
such responses, shaped by 
what it was responding 
to' 

5. Statement I : The British legal scholars 
relied on Indian Pandits and 
Maulavis for understanding 
of canons of authoritative 
texts 

Statement II : British codified the Hindu 
Laws in 1783 and the 
Muslim Laws in 1785 

6. Statement I : Dadabhai Naoroji argued 
that what was being 
drained out was 'potential 
surplus' that could generate 
more economic develop­
ment in India if invested 
in India 

Statement II : Imperialists believed that 
India was brought into the 
large capitalist world 
market and that was in 
itself a progress towards 
modernization 

A - U-GIA-JBOS 



4 
7. en~ I : lR ~ ~a<<1~1zi 9;(f<:hl{ ~ 

~fcnm~~~~ 

m cfiT tr~ .:r@ t I 

en~ II : ~ ~ ~~R ~ ~ 
cA- fcn lR ~ 31d{{l~lll 

:!{f<:hl{ cfil" 20 16 ~'Cf~~ 

~ en~-~1f%,zi ~ ~ 
lJ;cfi :!{f<:hl{ ~ ~ # f¾chfua 
fcnm ~~I 

s. >T~ Jwct(>11 ~ ~ ~ # HkiR1f@a 
# ~ cnt.=r m en~ mTT ~ t .? 

(a) ~ lJ;cfi m -cfi (>ll I o I fflr!T t '111" 

BPL 9Rc:ll<i cfil" LPG ~~"R ~~ 

cfKcfR~~t 

(b) ~ ~ cfil" cfCf 2015* ~ fcfim 
llm~ 

(c) ~ ~ ~ 3Tm.=r tRcfi"R ~ 5 ~ 
LPG ~~"R cfiT ~~ R<RI" fcfim t 

(d) ~ ~ cfiT ~~ ~ cfiT ~ {q;; 
~~ cfi{c! lcfi{ ~3TT 1J;cf ~ ~ 

~cfiT~&ncfiB"Tt 

9. lil{ctlll ~&fUTfcrm.T~ 250~ c11Rfchlffic! 'Cf{ 

Aki RI furn # ~ fcntT ~ cA- ~3ITa cfa 
"lf{ ? 

. (a)~~ 

(b) R;;,i,~q 
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10. ~l.-fl9{rBl ~~~ ~ '1{Kt fcnq ,m 
~tSc'..l'i:l l< ~&fUT ~-.:1ctiicti 2016 #, HklR1f©a 
# ~ -rcRl ~~T cfil" ~ 'W5l ~~T cfiT ~ ~ 

-3- 7 ln:rl". 

(a) ~.-Jl-i lch 

(b) ~ 

(c) Wl01{c~·:g 

(d) ~ 

·11. ~ ~ acfia 1 3llm1T, fch~cf, ~ 'Cf{~ 

fcnm TTm ~ ? 

(a) >l2P1 >l~l l~Rcfi ~~ 3WTT1T 

(b) ~ r1{c! I ('1 I tWI"@ 

(c) <f9&1 Hl ~ 

(d) tr~~ 

12. ~ ~ mm.=r # .=ftcff ~ fcR:r tr~nq;; 
~ ~ 1flIT :ft ? 

(a) .. :flc~~c11 tr~nq;; 

(b) ~ tr~ntR 
(c) @<Hele!! tr~~ 

( d) Hrll Hclc!I tr~~ 

13. ~ ~ J-i:i'i:lal4 rllllllW4 #, RklR1futa ~ ~ 
fcR:r lJ;cfi 91G # ftrm cflif t efRr ·~ WR' 
~ ~ 'Cf{ ~ cfiT 1flIT 

(a) ~- ~- .-JI.-Jlc!ctl ~ fil 3TTCo ~ 

(b) w ~ ~ ~ 3TTCo ~ 
('llmf ~) 

( C) 1l~ fui:m ~ ~ 1fcf 
(d) ~ ~ ~ m m ~ 
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7. Statement I : T he Man Booker Inter­

nat10nal Prize Js now 
unlikely to be won by an 
English author 

Statement II : The Booker Prize Founda­
tion announced that the 
M~n Rnnla~r lntr.1:m1tionr1 l 
Prize was to evolve from 
2016 onwards into a prize 
for fiction in translation 

8. Which one of the following statements 
about Pradhan Mantri Ujjwala Yojana is 
NOT correct ? 

(a) It is a soc ia l welfare scheme to 
provide LPG connections in BPL 
households 

(b) The scheme was launched m the 
year 2015 

(c) The Government has set a target of 
5 crores LPG connections under the 
Yojana 

(d) The objective of the scheme is to 
safeguard the heal th of women 
and children by providing them 
with clean cooking fuel 

9. Which one of the following portals was 
launched on the 250th anniversary of 
Survey of India ? 

(a) ServicePlus 

(b) DigiMap 

(c) Udaan 

(J) Nakshc 

5 

10. Which one of the following countries bas 
l.,1::1::11 urnk.cJ a:. tlic IMst corrupt country 
in the Corruption Perception Index 201 6 
released by Tran sparency International ? 

(a) Denmark 

(b) Sweden 

(c) Switzerland 

(d) Norway 

11. T he Central Vigilance Commission was 
set up on the recommendation of 

(a) F irst Administrative Reforms Com-
m1ss10n 

(b) Gmwala Committee 

(c) K.ripalani Committee 

(d) Santhanam Committee 

12. The Ninth Schedule was added -to the 
Constitution of India by the 

(a) Fourteenth Amendment 

(b) First Amendment 

(c) Ninety-Third Amendment 

(d) Ninety-Ninth Amendment 

13. Which one of the following cases in the 
Supreme Court of India dealt with the 
issue of 'creamy layer' among the 
backward classes ? 

(a) KM Nanavati vs. State of Bombay 

(b) Indra Sawhney vs. Union of India 

(c) Mad.bu Limaye vs. Ved Murri 

(d) Sajjan Singh vs. State of Punjab 

A - U-GIA-JBOS 
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14. ~ ~~R ~ ~ # HAf~Riia it~~ m 

en~ ~ ~ t ? 

(a) ffl 1942 #, ~ ~ cm: a,~~l cfi1" 

~ ~ ~ (-zy:t=c ~~R) 'TI: 

~ ~ ~ ~ oo ml 

(b) ZilclltR~I~ ~ cf2TT ~ ~ ~ 

~~R~m~ csl lff•:llcl ~~, ~cfi"T 

~~ 

(c) ~ ~ "9"~ ~~R ~ -slil1Hllrl ~ 
Sl~lfzla ml 

( d) ~ ~ "9"~ ~~R ~ tifcrm,:r ~­
~ cflT ~ Sl~lfzla ~ 

ts. ~~1~1cs11~ ~ ~ ~ ~ # HA~f<ga # ~ 
~mcn~~~t? 

(a) ~ 'TI: cflf 1765 #, ~e.:R ~ ~ ~ 

(b) W@tnm: ~ ~ ~ ~ ~ w 
~cfiG"rllcfi1"~,~attt~ 

cfi1' ~ 3tlq:q1f{q; ~ # ~ cfi1' 

(c) 50 "Bm ~ ~ ~ 'TI: 3fcf~ ~ 
~qil"mcJ~l'Tm 

( d) ~ a2TT 6l m q m cflT ~ 3fcf~ ~ 

3tWl ~ ~~ 3TTW1 II cfi1" tffq ~ l'Tm 

16. HAfuf<ga it~~ m, 1ffm-efcf;=n-t+l$1~dl 

cflT ~~ ~ 2TT ? 

(a) ~ 3fcrnT ~ ~ ~ {l"1r1lRti:h 
~ cfi1" dc'chl~ ~ q1\'TT 

(b) lfRa- ~ ~ "3gUl qi7" ~ ~ ~ ~ 
ffl 1931 ~ t1'1$iid l ~ ~ 2 ~ 

'3fR&TUn cf2TT \~' cfi1" q R~ 1 f6i a 
~l'Tm 
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(c) ~ -q~ cfi1" ~ ~ ~ ~ ll7ft ~ 
~cfil'crr:lm 

( d) ~TTR@ cf<ll ~ ~ 18 >ffu~ra mc1 cflT 

3ITT:~TOT 

17. cn2TT-tl l~fll ~ # cflf 2017 ~ ~ . 

PlAf~Riia J9rll lti'i # ~ ~ ~ ~ g;R:t6iR 
g;i_f<:fi I{ \JTTcfT ? 

(a) G 4Th:sftfin:1 

(b) 3tIB G ~ cft a,'"(rllc'. m 
(c) G~ 

(d) G 3i-sUl l'3-s ~ 

18. HAR:tf<ga #~~, i:hl'?ll<'II ~~~ 
~~~/~t? 

(a) ~@g?t ~ 

(b) ~~ 

(c) u$ '(1"1'11'f ~ 37 

(d) ~ I {dlll ~ cflT ~ ~ 

19. us ;i_,~qRf ~ 2011 # >f~ria l$T ~ ~ 

olTT9"R ~ ~ us cfi1' ~ ~ ~ ~ 
31'ft:r~mft 3ITT'~T "9"< ~e.:R ml t I 

HAR:tf<iia # ~ ~ ~ cfi1" f¾f.%a 
~: 

(a) ~Tlll - ~ ffi ftfiq; ~q; rl Til1 i:h cfi1"3fTtmR 
(APEC) 

(b) ~ ~fuftfiq; ~r-q (TPP) 

(c) "5fiT ~ ~ 3fr:n ~ ~Tlll qfuf(fiq; 
(FTAAP) 

(d) ~ q;Tfi1l~Rl4 ~q;r1Til1q; ~r-q 

(RCEP) 

.. 



7 

• 

14. Which one of the following statements 
auuul C1iµµ:. Mi:.sion is NOT correct ? 

(a) Ii1 March 1942, Cripps persuaded 
War Cabinet to agree to a draft 
declaration 

(b) Jawaharlal Nehru and Sardar Patel 
rt:prt:st:uted Congress to negotiate 
with the mission 

( c) The mission offered Dominion 
status after the war 

( d) The mission offered formation of 
constitution making body after the 
war 

15. Which one of the following statements 
about the Treaty of Allahabad is NOT 
COITect ? 

(a) It was signed in the year 1765 

(b) The Mughal Emperor by a farman· 
formally granted the Diwani of 
Bengal, Bihar and Orissa to the 
East India Company 

(c) Awadh was restored to its Nawab 
on payment of Rs. 50 Lakhs 

(d) Banaras and the Surrounding tracts 
were detached from Awadh and 
handed over to Shah Alam II 

16. Which among the following was NOT 
the provision of the Gandhi-Irwin pact ? 

(a) Immediate release of all political 
prisoners of the Civil Disobedience 
Movement 

(b) Clause 2 of the March 1931 pact 
defined 'reservations and safe­
guards' to cover financial credit of 
India 
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(c) The return of confiscated land 
already sold to third partieo 

(d) Reservation of 18 per cent seats 
for Depressed classes 

17. Which one of the following novels won . 
the Pulitzer Prize for the year 20 17 m 
the Fiction category ? 

(a) The Goldfinch 

(b) All the Light We Cannot See 

( c) The Sympathizer 

(d) The Underground Railroad 

18. Which one of the following does NOT 
pass through the Kaziranga National 
Park ? 

(a) The Brahmaputra river 

(b) The Diphlu river 

(c) National Highway No. 37 

(d) Railway track of Indian Railway 

19. The US President in 2017 has signed an 
executive order for US withdrawal from 
a trade organization of the Pacific 
region. Identify the organization from 
among the following : 

(a) Asia-Pacific Economic Cooperation 
' (APEC) 

(b) Trans-Pacific Partnership (TPP) 

( c) Free-Trade Agreement of the Asia­
Pacific (FTAAP) 

( d) Regional Comprehensive Economic 
Partnership (RCEP) 

A - U-GIA-JBOS 
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20. frp • .-tf~1fuia 3ITTJHoflff # U ~ ~ # ~ 
~ ctr ~ i fci, m\Cf ~ mnR ~ 
~ III i fcnm m ~~ # "ff~TTWI" ~ cfiT 
911"{ ~T@i "ffilG cfiT ,nn t ? 

(a) ~~TcrRrG ~~ill ffl ~ 

(b) ~ ,=rr~ ~ ill 3{TCfi ~ 

( C) ~ Gl<~{M '1 ~ ill 3{TCfi ~ 

c d) ~ ~ r("j fl1 t~ ~ m\Cf mcnR 

21. H'-'1R1ruia ~m # u ffl, ~ ~ (1'1cha~ 

ctr 3lcf~ u ~ t ? 

(a) ~ - ~. cJ,9<91.fl 

(b) '-'il!l,lch l~T '1 1<.ll!OI 

22. Pt'-rl~ruia # u cnt.=r, ~ ~ mnR i 
~ 263 i 3ltWT 3RR-~ ~ cfiT 
~qiBi~~~imi? 

(a) ~ 

(b) tjGi9R61q_ 

(c) ~ cfil <-1¾9@ 

(d) ~ cfiT ~ .-l! lll+{cf 

23. Pl'-'1R-tf©a # u ~ m, ~ fti:m: cfiT 
31:1~mr rrm m ? 

(a) :S1~Rll'1 ~ 

(b) "9:~ Ptctf-i:lch ~ 

( c) ~ch kl-1 ch c.1m <17 cha ?\7 ll ~ 

(d) ~~ 
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24. 1859 ~ -;fu, ~~~if HAR1f©a # u 
cnt.=r m cfi~ ~ % ? 

(a) ~ 'f(T 3ITT: 3l~l-1~'1 ◄ 1< it ~ ~3TT 

(b) ~ t1 ltt_cfi1<i l-1.fl&i-s<l'~ ~ ti-i:l1R-ta 
m 

(c) ~~ ~~fet~l ~~~~ m 

(d) ~ ~ '-'iB1~1<.1 <'fm ~ S11R-!ct1l ~ 

~ ch'-i-il lR47 i ~ ti-i:l ,R-ta m 

25. ~ U ~~ cfiT '3"'i<:1'1 ~ ~ IB-q 
1823 # cfiimr ~ PIAf("jf@a # u ~ 
m/u ~ ~ ~ <T"lTT/~ .-rn 
m/~ ? 

1. m ~m cfiT ftrfwr ~ 3fu: ~ 
ffi~~~~Wlml 

2. ~~«<TT ~ ~<1~47 i ~ # '3lcfUTT1 

cfiT ftrf~ ~ i Wlm I 

3. 
1

3fcrlTT1 

~ IB-q ~ - i ~ cfiT 
cii&i1cfcfi ~ I 

4. ~~ cfiT ~mm~ cf@ 

~ <sRR ~ mcfiR cfil l! I f-i1 ch i ~ I 

~ ~ .-rn ~ cfiT m cfi< ~ ~ 
~: 

(a) ~ 1 

(b) 1 3ITT: 2 

(c) 2, 3 3ITT: 4 

(d) ~4 

26. H'-'1R-lfurn itu~m~~ t960cfil~ 

~ trf¼ i 3ltWT ,nn 3TTffi t ? 

(a) 00 
(b) ~ 

(c) ~ 

(d) 6lfIB 

., 
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20. W11ich one of the following judgments 

declared that the Parliament has NO 
power to amend any of the provisions of 
Part III of the Constitution of India ? 

(a) Kesavananda Bharati vs. State of 
Kerala 

(b) Golak Nath vs. State of Punjab 

(c) Champakam Dorairajan vs. State of 
Madras 

(d) Minerva Mills Ltd. vs. Government 
of India 

21. Who among the following leaders is 
associated with the concept of party less 
democracy? 

(a) J B Kripalani 

(b) Jayprakash Narayan 

( c) Acharya N arendra Dev 

(d) Vinoba Bhave 

22. Who among the following is empowered 
to establish Inter State Council under 
Article 263 of the Constitution of India ? 

(a) Parliament 

(b) Council of Ministers 

( c) President of India 

(d) Chief Justice of India 

23. Which among the following was NOT 
the recommendation of the Nehru 
Rep01t? 

(a) Dominion Status 

(b) Separate Electorate 

(c) Unitary and Democratic Centre 

(d) Adult Suffrage 
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24. Which one of the fo llowing statements 
about the Indigo Revolt of 1859 is 
correct ? 

(a) It broke out at Poona and 
Ahmadnagar 

(b) lt was directed against moneylenners 

(c) It was supported by the intelligentsia 
ofl3engal 

(d) It was directed against the petty 
Zamindars and ex-employees of the 
planters 

25. Which of the following active step(s) 
was/were taken by the Congress in 1823 
to eradicate untouchabili ty from India ? 

1. Effort to educate and mobilize 
opinion among caste Hindus 

2. Effo1ts to educate the 'avarnas' 
about the evils ~f untouchability 

3. Forcibly open the doors of temples 
for ' avarnas' 

4. Petition the Government to pass 
laws that would declare untouch­
ability unlawful 

Select the correct answer using the code 
given below : 

(a) 1 only 

(b) 1 and 2 

(c) 2, 3 and 4 

(d) 4 only 

26. Which one of the following is NOT a 
1iver covered under the Indus Water 
Treaty 1960 ? 

(a) Ravi 

(b) Chenab 

(c) Teesta 

(d) Beas 

A - U-GIA-JBOS 
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27. 9'f 2017 ~ ~ ~ ~ # °fq~IB ~i 
~ P1+-<1fufula # u ~ ~ fcfim <17:fT 

t ? 

(a) ~~~3ITT:~~ 

(b) ~ tcR, -Pcm~- aj.f 3TT{ "tR ~ 

(c) ~ 47<1~fchl, ~ ~IM'I<. 3ITT: 
~cftnT 

(d) ~- '-11~<1 chltl<.k101, ~~ 3TT{ 

~~-~ 

28. 9'f 2017 ~ imJ, H+-<'IR:ifula ,,fo1a~l it u ~ 
~ ~ ~ fcfim <17:fT % ? 

(a) iJfR~~~T 

(b) ~WR 

(c) ~- 3ITT. '>llHcll(-l cfWT 

(d) ~~ 

29. P1+-<1R:ifula ~ # u fcRR, ~ ~ 
mm,, "ch1 \flcl1<:R;a "!"IB

1 
~ ~ # 

3lcfmmf fcfim % ? 

(a) "CJ:1. <TT. ~ 

(b) it. it.~ 

(c) ~l'1tjl<1 3Tffi:t, 

30. fri+-<1R:ifula # u "chirr m/u en~ ~ 
t/~ ? 

1. m-@ ~ mm,, cnr ~ 1·s ~ 

~ 1 1,1 Rctil ~ ~rm, ~ 91l 
'39<1~ ~ I 
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2. ~~mm,, cnr ~ 16 m 
~ ~ 11,1f<ctil "chl" ~~ t I 

3. ~ ~ mm,,cnr~21 ~~ 

~!$1" #, ~ ili ,w1fo:t,l a~ 
~-rm, -zyTT"chl"~~u~ 
%1 

~ ~ ~ ~ cnr WIBT "en\ tlit ~ 
~: 

(a) ~ 1 

(b) ~ 2 3ITT: 3 

(c) ~ 3 

(d) 1, 2 3ITT: 3 

31. ~ ~ mm,, ~ ~ 14 ~ 3ltiR 
!f~ - si fa l'So I Rt a fcrfu ~ w=r&=r rn a~ 
~ ~ ~ w~ ~ ~, H+-<'I fu fula ~ 
u~/~mBit~t? 

1. ~ # ~ c:nB ~ $11<.dlll •W1Rch1 

"ch1 I 

2. ~~TT#~ c:nB ~ itl<ctlll '11'1Rch1 

"ch1 

3. ~ ~ ~!$1" ili ~ ~ c:nB 
~Tm "chl" 

~~~~cnrWIBT"cn\~~ 
~: 

(a) ~ l 3ITT: 2 

(b) 1, 2 3m: 3 

(c) ~ I 3ITT: 3 

(d) 4 
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·27. Who among the fo llowing are awarded 

w i l11 lht: 3µt:L:ial B1c::dk.tl11 uugh Pl'iz:c in 
Fundamental Physics for the year 2017 ? 

(a) Stephen W Hawking and Roger 
Penrose 

(b) Ronald Drever, Kip S Thome and 
Ramer Weiss 

(c) Joseph Polchinski , Andrew 
Strominger and Cumrun Vafa 

(d) J Michael Kosterlitz, Duncan 
Haldane and David J Thouless 

28. Who among the following Mathematician 
is the recipient of the Abel Plize for the 
year 2017 ? 

(a) John F Nash 

(b) Yves Meyer 

( c) SR S1inivasa Varadhan 

( d) Andrew Wiles 

29. Who among the following s~holars has 
conceptualized the Constitution of India 
as a 'seamless web' ? 

(a) MV Pylee 

(b) ·DD Basu 

( c) Granville Austin 

(d) Subhash Kashyap 

30. Which of the following statements is/are 
cotTect ? 

1. Alticle 15 of the Constitution of 
India is available to both citizens of 
India and the for.eignern 
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2. Article 16 of the Constitution of 
India is available to tho oitizono of 
India only 

3. Article 21 of the Constitution of 
India is available to both citizens of 
India and the foreigners alike within 
the territory of India 

Select the correct answer using the code 
given below : 

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

31. Who among the following are entitled to 
get the benefits of equality before the 
law and the equal protection of the laws 
as ensh1ined under Article 14 of the 
Constitution of India ? 

1. All Indian citizens living in India. 

2. All Indian citizens living abroad 

3. Foreigners living within the ten-itory 
of India 

4. All citizens born in India 

Select the conect answer using the code 
given below : 

(a) 1 and 2 only 

(b) 1., 2 and 3 

(c) 1 and 3 only 

(d) 4 

A - U-GIA-JBOS 
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32. 1835 t ~ ~T~ ~ ~ GfR # 

R k1 H mi a it ~ ffl m cfi~ ~ 'TTTT t- ? 
(a) w~cfil~~ll"cR{~ 

f4 R·F1 '1 ~ ~ 1H-a, f4 a fcnz:rr l7111 

<TT 

(b) ~ ~ cfiT ~ ~T~ wrrTm # 
ftr~ cfiT m1:fT ~ 

(c) ftr~ cfiT m1TT ~ ~ # ~ ~ 
-ii 9-i:l I Reh ~ ~ m~ ~ 
~ ftT~ # ~ .=f{ ~~TT cfiT 3lcff<TT 

~m+T<TT I 

(d) M~'-il.-J >ffol1 ~ .t ~' ~ 
cfiT ;r{ '2 fa c\, I~ ~ ~ >ffiTTrf ~ WTT 
cfiT ~~R, ~ ~ ~ <TT 

33. HkiR:lruia # ~ rcfirf oo~n ~ M"1lH•F( 

~t~t3l'm.-J"WWf~? 

(a) ~. mjq, ~ cf<TT ~ 

(b) ~, ~14tk1, ~cf<TT~ 

(c) ~4B<'l, mjq, 97H•F( ~ m 
(d) ~c!lrlR ~ ~, Q14B<'l, ~ cf<TT 

~ 

34. dl9H4~Tcfi ~ t GfR # RkiR:lruia 

#~chi.=,m~~'TTTTt-? 
(a) firlz~T cfiT lTI'{~•A ~ ~~ft i-i17cl IG # 

m~ 3TT4l 

(b) ~~~~~ft i'117c!IG cfiT ~ ~ ~ 
~mm 

(c) ~ ~ # "~ Bl'i_~cfi ~ 
(~ cti&l R'c'.c1 '-17 <119(17)" m ~ 
3WU a<TT ~ ~ csRT WT 

(d) ~~frn:{fur~~~~ 'lfrau 
~~T # ~~T cR'1T ~ <TT 

U-GIA-JBOS - A 12 

35. ~a.<.1-1 m ~ GfR # HkiHruia # ~ 
ffl m /~ cfi~ ~ t-;i ? 

1. ~ -11• 11J1'-s # ~ ~ cficlf!l:fl, 

'39.-4 IBcfiF( cf<TT ~ ~ &lruic1,1 i I 

2. ~ cfi lol.ll,'-icfi '39.-lllB '~ G 00 
~· ~ ~ ~ ~ 2015 cfiT ~ 
~<fcfi I< >l'IB ~3TT I 

3. '~ G 00 ~• rfl1T1 ~dk'-il \ifl'IB 

cfiT 1:% ,,4~011 2TT I 

(a) ~ 1 

(b) ~ 2 ~ 3 

(c) ~ l ~ 3 

(d) 1, 2 ~ 3 

36. ;,i<1c11~ qf<c1J;:i f4~4cfi qfur B'-i~la , ~ 

GfR # HkiR:lruia ~ # ~ ffl m ~ 

'TTTT i ? 

(a) ~ B'-i~d ~ 190 ~ 3l'fucf1 ~~TT~ 
~&R ~ i (lIT-if 2017 cfil w:rfu) 

(b) ~ B'-i~dl 4 ~ 2016 cfiT>fmcf# 
3TT4T 

(c) 3TT~WRT u$ Frmfur 3f~TGR (~ 

~~~ !1lc.flf-s cfir?_l~~R, INDC), 

~ 2015 ~ ul<'lcl l~ 9Rcldrt BJ-~<1'1 it 
~ ml 1l<TT <TT, cnT ~ B'-i~dl 

# Sk41~Ra ml lT<TT 

(d) USA~ m ~. qfur B'-i~a, # 
~TW@ ~ 
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32. Which one of the following statements 

about the English Education Act of 1835 
is NOT correct ? 

(a) It was proposed by Governor 
General William Bentinck on the 
advice of Macaulay 

(b) · It made English the language of 
instruction in Indian education 
system 

( c) With the formal institutionalization of 
English as the language of instruc­
tion, the stage was set for a new 
direction to Indian education 

(d) To the existing Oriental Institutions 
fresh awards of stipends to students 
and the publication of classical texts 
were to continue 

33. Which one of the following dynasties 
ruled under the suzerainty of Kingdom of 
Vijayanagar ? 

(a) Sangamas., Saluvas, Tuluvas and 
Aravidus 

(b) Sangamas, Hoysalas, Aravidus and 
Tuluvas 

(c) Hoysalas, Saluvas, Poligars and 
Sangamas 

( d) Yadavas of Devagiri, Hoysalas, 
Saluvas and Aravidus 

34. Which one of the following statements 
about the Colonial economy is NOT 
correct ? 

(a) The British presence inhibited 
indigenous ..capitalism 

(b) Laissez-faire actively promoted 
indigenous capitalism 

(c) The 'white collective monopoly' 
came earliest and remained most 
pronounced in Eastern India 

( d) The Bombay hinterland was difficult 
to penetrate before the construction 
of milways 
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35. Which of the following statement(s) 
about Eastcrinc Kirc is/arc correct ? 

I. Born in Nagaland, she is a poet, 
novelist and children's book writer 

2. She is the recipient of the Hindu 
Prize for the year 2015 for her 
poetic novel 'Vlhen the River 
Sleeps' 

3. 'When the River Sleeps' was an 
exploration of the Naga spirit 
universe 

Select the c01Tect answer using the code 
given below : 

(a) 1 only 

(b) 2 and 3 only 

(c) l and 3 only 

(d) 1, 2 and 3 

36. Which of the following statements about 
the Paris Agreement on Climate Change 
is NOT correct ? 

(a) The agreement has been signed by 
more than 190 countries (as of 
March 2017) 

(b) The agreement went into effect on 
4 November 2016 

( c) The Intended Nationally Determined 
Contribution (INDC) pledged during 
the 2015 Climate Change Confer­
ence has been withdrawn in the 
Paris Agreement 

( d) Both USA and China joined the 
Paris Agreement 

A - U-GIA-JBOS 
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37. 3T~~qi1fcfitT~~#, ~ 
~ ~ ~ 64 if ~ ~ gU<hl{ 

(2017)~tfcf~~ g{fchl{~~~ . 

1l<TT ? 

(a) ~ ~ 

(b) .:rn:r ~T<if'Rl 

(c) ~ 

( d) Q,ll {ki lfc. 

38. 'l=lmf ~ 'Bfcrmrr ~ ~m ~ ~ #, 
Hkik:if@a # ~ cf,'t,, m 91~ ~ i ? 

(a) 3lc-9ti&-tcfi-cfTf 3l'9"TT ffi cfiT fiT&n 

~an cfiT ~ 3fu: >f~ITTR 

(ti-ill<1rt) en<:~~ 

(b) ~ 30 ~ 3TtTR ~ 'm1TT{, 
•Pl I dl ll 3ITT mflfcfi d1 c-9 ti &-I ch 1 "cfiT 

~~1l<ni 

( C) ~ mflfcfi ~ cfi1 mflfcfi 3ft'{ ~ 
Sl41Gl ,;7 ~~~an cfiT f?.! 19.--fl ~ 

~ ~ 3T:!{~ cfiB "cfiT ~ 
~i 

( d) fcn-m mflfcfi .:sic-9ti &-tcfi cfTf ~ ~ 

9il{ftT&nwirl~~~ tt~ llld l 

m ~ 1R 3f9"TT .:sic-9ti&-tcfi ~ m 
~i 

39. Hkik:if@a ~/~ # ~ "cht., m/~ ~ 
tt~ Ria t /~ ? 

1. oll q JI +-I "cfiT ~ "cfiT ~ ~ 

frrzn:r mmcrf~~ 
3TWfurfcl;in~ 

~i 
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2. ~ ~ : oll?TT qil ~ ~ ~ 

~~mw:r~ 

(a) ~ 1 

(b) 1 3ITT 2 

(c) 2 3ITT 3 

~crf~~ 
· -~31fuf<m~ 

40. crf 2016 "cfiT ~1~1(-t l~cif ~ g{fchl{ 

Hkik:if@a # ~ ~ m ~3TT i ? 

(b) ~ffiT ~ 

(c) ~ 

(d) ~ ~ 

41. Mkik:if@a # ~ ~ ~, 'l=lmf ~ ~ 

~~d) ffl m "cfiT ~ ~ ~ 11<n? 

(a) TT; cfik~fuc-fl ~ 186i 

(b) 'l=lmf m:cfiR ~ ( °G ◄ I q ..;:il c. ffl 
~~) 1858 

(c) ~ ilTit ~~ 

(d) ~ ~~Cfii t!~ 
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3 7. Akshay Kumar was chosen for the best 

actor uwnrd for tho 64th Nntionnl Film 
Awards (2017) for his role in the Hindi 
film 

(a) Mukti Bhawan 

(b) Nnnm Shnbnnn 

(c) Rustom 

(d) Airlift 

38. Which one of the following statements 
about the provisions of the Constitution 
of India is correct ? 

(a) Mino1ities can establish and 
administer educational institutions of 
their choice 

(b) Only linguistic, ethnic and religious 
minorities find mention under 
Article 30 

(c) Every religious denomination has 
unfettered right to establish and 
maintain institutions for religious and 
charitable purposes 

~d) An educational institution established 
by a religious minority loses its 
minority status on receiving financial 
aid from the Government 

39. Which of the following pair(s) is/are 
conectly matched ? 

1. Rule of lapse : Part of grant that 
can be canied over 
to next year 
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2. Supplementary : An advance grant to 
gmnt meet expenditures 

3. Vote on 
account 

Additional funds 
granted in the 
course of financial 
year 

Select the conect answer using the code 
given below : 

(a) 1 only 

(b) 1 and 2 

(c) 2 and 3 

(d) None of the above 

40. Who among the following has won the 
Dadasaheb Phalke award for the year 
2016? 

(a) K Viswanath 

(b) Shashi Kapoor 

(c) Guizar 

( d) Manoj Kumar 

41. Which one of the following had created 
the offa:e of the Secretary of State for 
India ? 

(a) The Councils Act 1861 

(b) The Government of India Act 1858 

( c) The Morley Minto Reforms 

( d) Montague Chelmsford reforms 

A- U-GIA-JBOS 
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42. ~ I ~ ~ II -a t1~R1a ~ 3ITT 

~~mwt~~cnr~~ 
~~~: 

B. ~\JJSfl l&I 
~~ 

c.-ciw:~ 

D.Wffi,~ 

~: 

A 

(a) 2 

(b) 3 

(c) 2 

(d) 3 

B 

1 

4 

4 

1 

1. G ~ fh•cirlci : 

~ 4lmR.ch&I ~ 
Mmc<-1 ~ 

2. 'G t0Gf~ m 
~ fkcirlct : 

AD 1192-1296 

3. °Gill~~ : 

. 1000-1700 

4. °G ~ ffl 
~Mrnc1&1~ 

C D 

4 3 

1 2 

1 3 

4 2 

43. ~ I ~ ~ II ~ t1~fua ~ 3ITT 
~~mwt~~cnr #~91\ 
~~~: 

U-GIA-JBOS - A 

~II 
(~ltG) 

1. ~~~~ 
cfi)-~ 

2. ~cfil~Q"R 

' 3. chlt519 Ic1 
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~: 

A B C D 

(a) 2 4 3 1 

(b) 2 3 4 1 

(c) l 3 4 2 

(d) 1 4 3 2 

44. '\~-s&ilcfi{UI ' cnT afq 3TT"{ °ffR ~ ~ 

~ ~ f;i1-r1fc1Rirn ~ ~ ~ ::iiaPf~a t ? 

1. ~ fcr~ ~ ~ m arfucn ~ ~ m 
<SffW ~m ~ ti-i:1 1&1 r1 ~ ~ ll t I 

2. ~~~~1:R~~fcf~-clTT91 
fl ll-ll~ch ~qt ~ ~ m~ 3fR cfiT 
>ITTnm t I 

3. ~mm~ "S1~1Pc1a m cfR m~ 
'111ruls:n ~ erR ll ~~3tlllci l ~ i:f{ 

~~~<Wllt l 

4. ~ ~ (ttsiittc) ~™ .cfil 
3TT9il&TT ~ fl f?t ~a ~ I 

~wt~~cnrm~~~ 
~: 

(a) ~ 1 3ITT 4 

(b) ~ 2 3ITT 3 

( C) ~ 2, 3 3TT\ 4 

(d) 1, 2, 3 3TT\ 4 

45. cflSf 2017 ~ ◄ rlc--s~'1 9£1fc({Onll 3./..t·cfil{ 

(◄ rlc--s~rl ~c1 11.1ifc&1 ~) ~ £.9: ~.m ll 
~ ~. Hl-rlmf©a ll ~ ~ t ? 

(a) ~ -cnirrr 

(b) 3Rf<TT~T "CfR1" 

(c) ~ flll-11-511 

( d) ti~<.&11 &I csf g~o I I 
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42. Match List I with List Il and select the 
correct answer using the code given 
below the Lists : 

List I 
(Authm) 

A. Heiman Ku Ike 

B. Brajadulal 
Chattopadhya ya 

C. Peter Jackson 

D. Sunil Kumar 

Code 

A 

(a) 2 

(b) 3 

(c) 2 

(d) 3 

B 

4 

4 

List lI 
(Book) 

I. TheDelhi 
Su ltanate: 
A Political and 
Mi lita1y Hist01y 

2. The Emergence of 
Delhi Sultanate : 
AD 1192-1296 

3. 171e State in India : 
1000-1700 

4. The Making of 
Early Medieval 
India 

C 

4 

1 

1 

4 

D 

3 

2 

3 

2 

43. Match L ist I with List II and select the 
correct answer using the code given 
below the L ists : 

List I 
(Official) 

A. Samahartri 

B. Samnidhatti 

C. Sansthadhyaksha 

D. Antaravarnshika 

List II 
(Office held) 

1. Chief of the 
Palace Guards 

2. Chief collector 
of revenue 

3. Treasurer 

4. Superintendent 
of markt:Ls 
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Code 

(a) 

(b) 

(c) 

(d) 

A 

2 

2 

l 

B 

4 

3 

3 

4 

C 

3 

4 

4 

3 

D 

1 

1 

2 

2 

44. Which of the following most suitably 
captures the meaning and essence of 
'globalization' ? 

1. Il 1s about conducting external 
relations between two or more 
States of the world 

2. It is a process of coming together 
of world-wide social relations 
bypassing tenitories 

3. It refers to thinking transtenit01ially 
abou t global 1isks affecting people 

4. It has a wishful vision of suprastate 
governance 

Select the correct answer using the code 
given below : 

(a) 1 and 4 only 

(b) 2 and 3 only 

(c) 2, 3 and 4 only 

(d) 1, 2, 3 and 4 

45. Who among the fo llowing is one of the 
s ix winners of the Goldman Environ­
mental Prize, for the year 2017 ? 

(a) Jadav Payeng 

(b) Anadish Pal 

(c) Prafulla Samantra 

(J) Sw1derlal Dahuguna 

A - U-GIA-JBOS 
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46. ~ iif ~~A 9i'..'11llcfi fchtiR-iQ. fit€ll ld i ? 

(a) '39...L! ltlcfi l( 

(b) ~ fui<'ll~l 
(c) ~m:frn .,cfq, 

(d) ~ cfi<'llcfi l( (m mffu:) 

4 7. ~#~it;~~ it; fcrfm.r ~ cfiT 

~ ~' HHfc1fuia #~~mt 
1. ~c=ft~ 
2. ~ ti~ Rt 41 ~ ~ 
3. ~ fcr~ cfiT '9"lfuf m.-iT 
4. fctf;i41~1 fcr~ cfiT 1TTfur mrIT 

~~~~cfiTWTTTfcn{~~ 

~: 

(a) 1 - 2 - 4 - 3 

(b) 1 -3 - 2-4 

(c) 2 - 1 - 3 - 4 

(d) 4-3-2-1 

48. frl1-,-t!~f@a ii"~ fcRr "C!.cfl ~ c=ft mcnR ~ 

~-~ ~m il=i 31"~ il=i ~ <1;;i 1J.1?1 1< 

~ c=ft ~ c=ft t ? 

(a) 3TT~~~TtRcfiR 
(b) cfi'1 R.cfi mR . 

(c) '-l~l(l'Si;; ~ . 

(d) a~<'l-118 fRcl1R 

49. RA™fuia ~ ~ ~ m, m: 3lT<TTlT (1948) 

cfiT ~~T ~ ? 

(a) ~ it; cPITcfi(OI cfiT 31"~ cRrIT 

(b) ~~~fcncflTT~'cfil 3-1if6.-i 

mm{ 3lTm( o/ fcnl!T ~ .tfcficff t 
(c) ~-~ ~m cfiT 31"~ cnvTT 

( d) ~ 1Rl"&l"U'T cR'1T fct, efll'T ~ "i'fTR cfiT 
3TT~ # 3@ITT" fcnl!T ~ tfcRTT t 
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50. ~~ 3tR 31"~ it; MA™mia ~ # ~ cfit..r m 
~ ~ tiil™a ~ t ? 

(a) ~ it <TT9, ~ c=ft 3TTlf mu 
~ ffi # '1f1cil ~n 

(b) ~ 

(c) ~ 

(d) ~ '-1 rfl isl G 1,1_1 cfiT ~ ~ it; 
~#~llm~~ 
3ITTfu-f 

51. RA™fuia ~ # ~ fcnu ~ # ~ 
~~~ ({ffl)~"ll{t? 

(a) ~ ~ cfiT ~ 

(b) ¥@-~-~~ 

(c) WcfR ~ cnl '-lcfiisl(I 

( d) 3RT{ G(cl 1;,i 1 

52. MAHmia # ~ cfit..r m 91~ ~ ~ t ? 

(a) ~Rtfi q;-1{ Jk<'l l'3() '1 mi<'l"11 cfiT "Ct'cfi 'tjm 

~ 

(b) fll ll I tJ,~l '1 ~ it; 3lt.TR '-1 ffiW 
(ljffii4l) cfi1 ~ ~a 1ci47 Gl" <Tlfr ~ fcn 
~~fcRftm~il=im'lf,~ 
~ ~ ~ ~ ~ "ITT -rm -mil 
"<mT ~ ~' 5,o$t~1< ~ cR 

(c) 3K<ift cfIB '-ltl lHcfi-~-m # ~,~uiG 

m ~ il=i 31"~ ~ >fUTTm c=ft 
cfi14'~,Rt cfiT ffi t 

( d) ~ ~ ~ ef&l"U'T mw" # 1@<:hl R-1 

c=ft ~ '-ll~chl (tR>f ~~Tft) ~ ~ 
# ~ .,@ m-T t 
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... 

46. Padma Slui Sudarsan Pattnaik 1s well 
known as n 

(a) novelist 

(b) golfer 

( c) classical dancer 

( d) sand artist 

4 7. Which one of the following is the cotTect 
sequence of different stages a budget 
has to go tbrnugh in the Parliament ? 

1. Presentation of the Budget 

2. Scrutiny by Departmental Commit­
tees 

3. Passing of Finance Bill 

4. Passing of Appropriation Bill 

Select the cotTect answer using the code 
given below : 

(a) 1 - 2 - 4 - 3 

(b) 1 - 3 - 2 - 4 

(c) 2 - 1 - 3 - 4 

(d) 4 - 3 - 2 - 1 

48. Government of which one of the 
following States has appointed the 
Rajamannar Committee to study the 
Centre-State relations ? 

(a) Government of Andhra Pradesh 

(b) Government of Karnataka 

( c) Government of Maharashtra 

(d) Government of Tamil Nadu 

49. Which one of the following was the 
mandate of the Dhar Commission ( 1948) ? 

(a) To study the classification of States 

(b) To recommend whether the States 
can be re-organized on linguistic 
basis 

( c) To study the Centre-State relations 

(d) To examine whether Madras city 
oan be transferred to Andhrn 
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50. Which one of the following pairs of te1m 
<1nd mf':rnine is NOT G<mectly matched ? 

(a) Khalisa : Villages whose mcome 
went directly to the State 
Treaswy 

(b) Mauz.a Rebellious territo1y 

(c) lnam : Land allotted to learned 
and religious man 

(d) Jagir : Tenitorial assignment given 
to Mansabdars in lieu of 
salary 

51. In which one of the following buildings 
the first extant true arch is found ? 

(a) Arhai din ka Jhonpra 

(b) Quwwat ul Islam Mosque 

(c) Tomb of Sultan Balban 

( d) Alai Darwaza 

52. Which one of the following statements is 
NOT correct ? 

(a) Sharaf Qai was a minister of 
Allauddin Khalji 

(b) Under Giyasuddin Tughluq Muqtis 
were warned not to ill-treat any of 
their officials for small amounts 
taken over and above their salaries 

(c) The Arabic work masalik-i-Absar 
gives description of the functioning 
of Iqta system under Muhammad 
bin Tughluq 

(d) Marco Polo has not mentioned 
about Pearl Fishe1y of Tuticorin in 
South India 

A - U-GIA-JBOS 
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53. ~ I cfiT ~ II ~ ti,~f('fa ~ 3lR 

~~~~rm~clil>f<IBT~ 
~"3m~: 

~I 

(~) 

A.G~ 

~~m~ 

B.~&fficf~ 
~~m 

C. G~3Rt ~ 
~ 

D. ~sl~l~~ ~ 

~: 

A B 
(a) 3 4 
(b) 1 2 

(c) 3 2 

(d) 1 4 

1. "l;. "91. ~-
~ cfwfl+f 

2. ~~ 

3. ~ 61 l~fc.1~'1 

4. ~~ 

C D 
2 1 

4 3 
4 1 

2 3 

54. HAR--if©a it~~ ~~T ~, 1 m 2011 ~ 
~~ ~~ldH ~ ~ ~ it ~c.ch1~'1 cfiT . 
3{Mcfi1Rcti (.ilq~1Rcti) ~ ~ ~ m-r 
t ? 

(a) ~ 

(b) ~ 

(c) USA 

(d) ~ 

55. HAR--if©a qf{:;,gG tR fcRm: ~ ~ 
o1:fffii cfiT q ~~ I Pl Q, : 

~ mtB 193 2 it ~, ~ >RslITTf ~'"S,td 111 
~mfml'fT7;fcfi·m 1 ~~eRR~~ 

~ sifaqtGcfi ~~itm'71~ ~ I ~ 

~ ~ 3ffi~ ~01 ~ ~AilRd ~ I 
~WITTf~61cfilG'17cft~m~ I~ 

~ mtB 2017 it~ I 
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(a) SjOIIR-1'11 ~Rim{ 

(b) ~11~ 1{ $-s¾( 

(c) Pcn~nu 31m-1cfi< 

(d) ~. 1W. ~~-m 

56. ~~~ 201791T~1 RAR-lmia 
it~ q;t,, t ? 

{a) '3'd(Sl~llT 

(b) cfi'1 fccfi 

(c) 3ffi11 

(d) a~~rll:§ 

57. ~ I cfiT ~ II~ t!,~R-la ~ 3lR 
~ ~ m ~ rm ~ 91T m ~ . 
~"3m~: 

1. ~ ~m< 

2. ~"t!m< 

3. PSEsit ~ 

91T ~~T 

A B C D 

(a) 2 4 3 

(b) 2 4 1 3 

(c) 3 4 1 2 

(d) 3 1 4 2 
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53. Match List I with List II and select the 

correct answer using thf': r.nrlf': siwm 
below the Lists : 

List I List II 
(Book) (Author) 

A. The World 1. AP J Abdul Kalam 
As I See It 

B. How to Live 2. Stephen Hawking 
Longer and 
Feel Better 3. Albeit Einstein 

C. The Theory 
of Everything 4. Linus Pauling 

D. Indomitable 
Spirit 

Code : 

A B C D 

(a) 3 4 2 1 

(b) 1 2 4 3 

(c) 3 2 4 1 

(d) 1 4 2 3 

54. Which one of the following countries has 
officially recognized Bitcoin as a legal 
payment method since 1st April 2017 ? 

(a) Japan 

(b) China 

(c) USA 

(d) India 

55. Consider the following passage and 
identify the person : 

Born in April 1932, she was a renowned 
Hindustani classical vocalist. She was 
recognized as an innovative · exponent of 
the Jaipur Gharana. She was awarded 
Padma Bhushan and Padma Vibhushan. 
She was also a Fellow of Sangeet Natak 
Akademy. She died in April 2017 

56, 

s7. 
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(a) Mrinalini Sarabhai 

(b) Mogubai Kurdikar 

(c) Kish01i Amonkar 

(d) MS Subbulakshmi 

\\Thich one of the following is the winner 
of the Vijay Hazare Trophy 2017 ? 

(a) Uttar Pradesh 

(b) Kamataka 

(c) Assam 

(d) Tamil Nadu 

Match List I with List II and select the 
correct answeJ using the code given 
below the Lists : 

List I List II 
(Committee) (Subject) 

A. Rangarajan 1. Tax Reform 
Committee 

2. Insurance Reform 
B. Narsimhan 

Committee 
3. Disinvestment of 

C. Kelkar shares in PSEs 

Committee 
4. Banking Sector 

D. Malhotra Reform 
Committee 

Code : 

A B C D 

(a) 2 1 4 3 

(b) 2 4 1 3 

(c) 3 4 1 2 

(d) 3 1 4 ? 

A - U-GIA-JBOS 
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58. 3f~~~ frP-rtR-!futa #~fcnrr ~~ 

ffl~, ~ct~~ f¾illlche119 ~ ~ ? 

(a) 9'111~T: m~ ct~ cJ al ll ch 

(b) ~ ~T: m?ffi ctl>-TT R;.a1 '-I ch 

(c) 9'111~T: 'c1dlllc:fi ct~ R;.dlllch 

(d) 9'111~T: ~alllch ct~ ~.fq, 

. 
59. ~e11~1<il1~ >f~Tm:r ~ ~ # RHR-lf@a # ~ 
~ m ~ ~ t ? 

(a) ~ ~ flHil I\Tll cnl' AAu <.I\J'J~@c:fi 

~m~l:%~~~ ~~ 

~ #, t9\S2.dll I ~ ~ t 
(b) ~ tjfu; 15, cnl'ZT ~ ~ ~ ~ 

cnl' ~ ~ cnl', ~ ~ t 
( C) ~ tjfu; 23, 3TT<TTc@ ~ ~ ~ 

~3TTcfll fl:!~:!8 ~ %fl l'i_ctch fcr-:n~T 
m'1fRcnl', ~~i 

(d) ~tjfu; 20, ~~cfiT91(~cfra 
3TT"{ ~ ~~T '9lw=r ~ cfIB ~ffiTchl" 
qiT~~t 

60. ~ cfi"@ ~ ~ # RHR-lfuta # ~ ~ m 
~~rf@t? 

(a) ~en@#~ Wl (~), ~ cft 
Wl'TT # ~ >!=ct R-1 a ~m 

(b) ~ ~ ~ 1:% ~ # ~ i fcfi 
>f<fmctc:h1Tm~(1'1ttfm~"q"{~ 

cf~T cfi1 3TTf~ m 

(c) ~~~Jct) ~~ ~ W@ 91\dT ~ fcfi 
'q .-~:18 ~ # ~~3TT ~ (l""lltit! ~ 

-~~m3TT<~~#m~ 
~git~fcnm~ 

(d) ~ ' ~~cfi1~~ m 
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61. ~~~~csTR# RHf<'lrutd #~ 
chl:'f m en~ ~ 'if@ t ? 

(a) 10 ~ cft ~ ctcn cft e1s%fcl;~l ~ 

l=f@l-ftffir~ 3N-ft~~~~~ 
\Sfffimm~ 

(b) ~ 3T~~ ~ ~ cft 
m<r 8oc ~ 3fmrr 91\ ~ ~ m 
tell ch 14' ~ 

(c) ~ "9\ >!'TR m ~ ~ "9\, >ffu ~ 
1500 ~ ctc:h cft ~ >!'TR t 

(d) ~ \9lctT # >ffu crr:f ~ ~ ~ 
1-5o~~~~rm~m~ 

62. RHR-lf©a it~ir"t!m<cFl"f~t ~~ 
2017-2018 it~ll<nt? 

1, ~cfil~3ffim~ l'fi<cR1cfil 
<I{ ffl ~ cf!f cft ~ ~ ~ 
tfm Rfill lch&l 141 cfiT fi=ct IR-la ~ # 
-w,~ ~~ I 

2. ~~cnl'JWT~~m~ ~C1lll l 

ll"lTT clTrcfl ~ cnl' ~ cft (l>JJch l t{)lj 

rfTIB~~"9m"9\~~~ I 

3. ~ (~) (f~ Si?! l&ilf1 ~ m 
~ ~ flctfJno1 ~ cl1T t!ffiU!" ~ 
~' olj1f ~~ct~~-~ 
ct J TTc:h(O I cl1T ~ ll"lTT I 

.:ft;)~~~cfi1>fll17T91(~~ 
~: 

(a) ~ 1 3TT< 3 

(b) ~ 2 3ITT: 3 

(c) 1, 2 3TT< 3 

(d) ~ 1 am: 2 
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58. To which of the following sectors of the 

cl,u110111y, the activity of agriculture and 
services belong to ? 

(a) Primary and Tertiary respectively 

(b) Primary and Secondary respec-
tively 

(c) Tertiny r1nrl s~r.nnrlr1ry rr.1'p~r.­

tively 

(d) Secondary and Quaternary respec­
tively 

59. Which one of the following statements 
about Allahabad Prashasti is correct ? 

(a) It clearly presents the Gupta empire 
as the epicenter of a complex web 
of varied political relationships 

(b) Line 15 of it refers to the capturing 
a king of the Kota family 

( c) Line 23 refers to Samudragupta 
violently extem1inating a number of 
kings of Aryava1ta 

(d) Linc 20 refers to rulers offering 
tribute, obeying the orqers of the 
Gupta King 

60. Which one of the following statements 
about the Gupta pe1iod is NOT c01Tect ? 

(a) Forced labour (Vishti) became more 
common than before in this pe1iod 

(b) A passage in the Vishnu Purana 
refers to the Guptas enjoying all the 
territories along the Ganga up to 
Prayaga 

(c) The Mehrauli insc1iption suggests 
that Chandragupta fought against a 
confederacy of enemies in Bengal 
and also led a campaign into the 
Pmtjab 

( d) Saurashtra was not a part of the 
Gupta Empirn 
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61. Which one of the following statements 
about the Sulrnnya Samridhi Scheme is 
NOT con-ect ? 

(a) Only parents of girls up to the age 
of 10 years can open such accounts 
in their daughters name 

01) 1nntrih11tinns ,irfl fl]ieihl ft for t,i.x 
benefits under Section 80C of the 
Income Tax Act 

(c) Interest earned thereon is exempted 
up to Rs. 1500 per annum 

(d) A maximum of Rs. l ·50 lakh per 
annum can be invested in this 
account 

62. Which of the following are the refo1ms 
intrnduced in Budget 2017-2018 ? 

1. Presentation of Budget advanced to 
1st Febrnary to enable the 
Minist1ies to operationalise all 
activities from the commencement 
of the :financial year 

2. Merger of Railway Budget with 
General Budget to b1ing Railways 
to the centre stage of Government's 
Fiscal Policy 

3. Removal of 
classification 
facilitate a 
allocations 
Ministries 

plan and non-plan 
of expenditure to 
holistic view of 

for Sectors and 

Select the correct answer using the code 
given below : 

(a) 1 and 3 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 

(d) 1 and 2 only 

A - U-GIA-JBOS 
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63. ' •?P--t I ~cfi ~ffi 4ic' 'l"-fKa" 3m: ~ ~~T ~ ~, 

~ ~ ~ 3rRmf t ? 

(a) ~ 

(b) tj~n'fi14 I 

(c) fcl4a.-w--1 

(d) WR 

64. ~~Ul'.lloTcnBcfffi Rklffimld ~ 
it u, cf,irf m ~qiaRa ~rcgr t ? 

(a) ~fq1z~ 

(b) ~cfi<Jii 

(c) t).sl-i<11t1 

(d) ~ 

65. fr!Af°cqfula ist§,(1ch1 (9T~7'-R) it u ffl m, 
mm u ~ t ? 

(a) ~ 

(b) qi"qTff 

(c) ~ 

{d) ~ (~) 

66. 'ffi 3fu: ~ u ~ ~ ~ '39~1~1 u 
PP-A fcq mi a it u ffl u Ul1 ma i ? 

(a) fil ii 1 ~ 1 a I UlT -a-~ 3i Tm:lll 97 <.l Rm . 
( ~ - tJ. ftl <:a I ) 

(b) 61Tm:4191 D rn t1 -a-m ~ ~ ~ 
(c) filii1~1a 1 UlT -a-m ~ ~ ~ 
(d) J1Tm:419"l<:1rnt1 -a-m ~ii 11--1 ,a 1 ® 

67. cftSf' 1984 "#, frlAf°cqfula it u cf,irf m frn ~ 
ftmq ~ cfiRUT m"9TB frn ~ ~ ~ ? 

(a) -m~ 3i l~ill(-114~<'.. 

(b) ~cf(-1 IAf~ ~oi l~til(-114~<'.. 

"q:?j ' ~ (c) Jll~{-11 l<.lii ~Jl l~{ii(-1 14 c 
(d) ~ 
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68. fcl1m ~To/ <TT cftSf' ~ ~ =qsi,~f.~ ~ 

JITT: mtTRUT ~ ~ ~ 911 3RR 60 ffl t I 

~ <TT crf ~ ~ mtTRUT ~ 1440 ffl t, 
cll~cfil~cf4lt"? 

(c) 8% 

69. A, B, C, D, E $: F ~ fcl1m W!ITT ~ ffl 
3fcliT cfiT ~ cfiT $: ~ 1TI7TT fcfi A ~ 

~ 3fqi >fIB ~, B ~DU ~ ~ 
mB" ~, C ~ cfil-f U cfil-f ~ <TT U ~ 
3lcfi' >ITTf ~ $: E ~ 4:., a~ 3fqi mB ~ 

~I 

Rklffimlci qi~ tR mn: ~ : 

cfi~ 1 : cfil-f U cfil-f <TT ~ ~ C U cp:r 

3fqi >fffi ~ I 

cfi~ 2 E 3fu: F ~ ~ ~ >fffi 

~ I 

~ it um-m /u ~ ~ 3lcfi >ITTf 

cnB cf@~ qil mcf cnB ~ -~ -cp:rfu 

t/~? 

(a) 1 am: 2, ~ 

(b) .=r cTT 1, .=r m 2 

(c) ml 

(d) m2 
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63. 'Nomadic Elephant' is a joint military 

exetclse between India a11d 

(a) China 

(b) Mongolia 

(c) Vietnam 

(d) Bhutan 

64. Which one of the following artificial 
sweeteners is modified sugar ? 

(a) Aspartame 

(b) Saccharin 

(c) Sucralose 

(d) Alita.me 

65. Which one of the . following polymers is 
madt of protein ? 

(a) Rubber 

(b) Cotton 

(c) Wool 

(d) Jute 

' 
66. Which of the fo llowing diseases are 

caused by the consumption of water 
contaminated by mercury and nitrate ? 

(a) Minamata disease and Osteoporosis 

(b) Osteoporosis and Blue Baby 
Syndrome 

( c) Minamata disease and Blue Baby 
Syndrome 

( d) Osteoporosis and Minamata disease 

67. Leakage of which one of the following 
gases had caused Bhopal Gas Tragedy in 
the year 1984 ? 

(a) Methyl isocyanate 

(b) Hexamethylene diisocyanate 

( c) Isophorone di isocyanate 

(d) Isothiocyanate 
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68. The difference between the compound 
interest am.I the simple interest fur 
2 years on a sum of money is Rs. 60. 
If the simple interest for 2 years is 
Rs. 1440, what is the rate of interest ? 

(c) 8% 

69. A, B, C, D, E and F compared their 
marks in an examination and found that 
A obtained the highest marks, B obtained 
more marks than D, C obtained more 
than at least two others and E had not 
obtained the lowest marks. 

Consider the following statements : 

Statement 1 : At least two members 
obtained less marks than 
C 

Statement 2 : E and F obtained the 
same marks 

Which of the above statement(s) is/are 
sufficient to identify the one with the 
lowest marks ? 

(a) Both 1 and 2 

(b) Neither 1 nor 2 

(c) 1 only 

(d) 2 only 

A - U-GIA-JBOS 
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70. 72 km cR1-~ "CR "WIB cTT ~3TT A 3ITT: B ~ 
c?t cxTTffi 1:% w cRi- 3?R: ~ ~ ~ 1:% m 
~"CR~ l~o1:fffii4km~tfV 

qTT,f{<{~~t ~~cxTTffi~ 
-tjz # 2 km, W -tjz # 2 ½ km c'ITTR -tjz # 
3km~t 3W~~arrit~~ 
t I ~ olf@i ~ 

(a) sciit # 

(b) B cfiT ~P;TT A ~ ~ Rene 

( C) A cR!- ~P;TT B ~ 3lfucfi Rene 

(d) A 3TI\B ~~-~ 

71. ~ I cfiT ~ II ~ tt~f<1a ~ 3TT\ 
~~~M~~q,Tw:rrrrcg 
~~~ : 

~I ~II 
(~~ (~) 
qf('-41Gti11) 

A.*~ qf<4l-:ii.-tl 

B. ~ qf<4lsii.-t l 

A B 

(a) 2 1 

(b) 2 4 

(c) 3 1 

(d) 3 4 

C 

4 

I 

4 

1 

l.~~ 

2. ~~ 

3. ~~ 

4.~~ 

D 

3 

3 

2 

2 

72. ~ I cfiT ~ II ~ {!~ k1 a ~ 3TT\ 
~~~~~~cnffflcfi\ 

~~~: 
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~1 · 

(cMf4@) 

A.~ 

B.ffl 
C. Ni.-tislfo 

D.+=rffi~ 
' 

(1TT11 ~) 

~: 

A 
(a) 1 
(b) 1 
(c) 4 
(d) 4 

B 
2 
3 
3 
2 

~II 
(~) 

l.~~ 

2. zj'~~ 

3. ef~~ 
4. 61 ff~k1ll I 

C D 
3 4 
2 4 
2 1 
3 1 

73. ~ ~ Pl i-'1 R-i f@a # ~ ci,T,, ~ m ~ 
('islltr ~~lff(Olf) q,T ~ 3flftichl_Rch ~ 
•q~ ~ '.;\ 

'1--'-''11'.? ~ islF<lititll 'Q ? 

(a) ~m~ 

(b) ~~m~ 

(c) '4mm~ 
(d) ~m~ 

74. -crfum ('CRTT) ~ ~ ~ # Hi-r!R-lf@a ~ ~ 
chi;, m m'cf f4-aJ.iH ~ ~ ? 

(a) ~'!<Pl 

(b) ~ 
(c) itiNilli-1 
(d) ~ (dll)) 

75. i:hl4Ach @ill~~~# Ai-r!R-lfuia #-«~ 
m~~~t? 
(a) wit ~Tchcf: €-4 1.:ctRa ~ cn-r 

~;;@~t 
(b) ~ 41-%ch.-t ,~ft 3T~ ~ cn-r 
~ ;;@ fcnm \lfRTT t 

(c) ~ 4;_,'1ctJ.i ~~~~ 
(d) wit ~ mP.ft 4J;J~li'i cn-r 
~~~ 
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70. Two men set out at the same time to 

walk towardo enoh othor from point3 
A and B; 72 km apmt. T he first man 
walks at the speed of 4 kmph while the 
second walks 2 km in the first hour, 

2f km in the second hour, 3 km in the 

third hour, and so on. The two men will 
mP.P.t 

(a) in 8 hours 

(b) nearer to · A than B 

( c) nearer to B than A 

(d) midway between A and B 

71. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I 
(Hydro power 

project) 

A. Maithon project 

B. Sala! project 

C. Rana Pratap 
Sagar project 

D. Tehri project 

Code : 

A 

(a) 2 

(b) 2 

(c) 3 

(d) 3 

B 

1 

4 

4 

1. 

2. 

3. 

4. 

C 

4 

I 

4 

List II 
(River) 

Chambal river 

Bhagirathi 1iver 

Barakar river 

Chenab river 

D 

3 

3 

2 

2 

72. Match List I with List II and select the 
conect answer using the code given 
hP.low thf? Lists : 
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List I 
(Veget11tiu11) 

A. Chapa1Tals 

B. Maquis 

C. Fynbos 

D. Malle scrubs 

Code : 

A B 

(a) 1 2 

(b) 1 3 

(c) 4 3 

(d) 4 2 

List II 
(Regiun) 

1. N01th America 

2. Southern Europe 

3. South Africa 

4. Austra lia 

C 

3 

2 

D 

4 

4 

2 I 

3 1 

· 73. Which one of the fo llowing tiger 
reserves of India has 'Bhoorsingh the 
Barasingha' as its official mascot ? 

(a) Nameri tiger reserve 

(b) Ranthambhore tiger reserve 

(c) Panna tiger reserve 

(d) Kanha tiger reserve 

7 4. Which one of the following elements · is 
present in the green pigment of leaves ? 

(a) Magnesium 

(b) Iron 

(c) Calcium 

(d) Copper 

75. Which one of the following is NOT 
correct about organic farming ? 

(a) It does not use genetically modified 
seeds 

(b) Synthetic pesticides or fertilizers are 
·not used 

( c) It uses minimal crop rotation 

(d) It uses ecologically protective prac­
tices 

A - U-GIA-JBOS 
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76. ~#'1mcITTTf1"3ff+rITR~ frp-.-ifc1Rsla #-a 
~ m '39cfi{OI ~ # ~ '1fTcTT t ? 

(a) ~l,W+ilc.{ 

(b) ~ 1 ~l tj7 c.{ 

(c) f% 411 +i1 c.{ 

(d) f9cA'i+nc.{ 

11. cnim (~) -m~~ # mcrr t cfifCR 

("aw)~ 

(a) ~ 

(b) ~ 

(c) iz.:f 

(d) ~<j,fM;ill'-1 

78. fcom 3TTiffi cRt ~ 60% ~ "1Tffi t I 

JIB@ qif ~ ~ ~ ~ ~ ~ ~ 
~cfi1~>f"Rmaef?:RT-c$n? 

(a) 37·5% 

(b) 60% 

(c) 75% 

(d) 120% 

79. GT "9WI' A 3ITT: B ~ icfa cITT sfill~T: 

12 ~ 3:ftt 16 ~ # m: ~ t I ~ 
~'lWf~~~-mt, (ll~Wfll' 

~Gf'IG Bcfit~fcfim~~, crrfcfiicfa 
9~#m:~? 

(a) 3f TTRc 

(b) 4~ 

(c) 4f ~ 
(d) 4¾ TTRc 
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80. ~ ~ ~' ~ Nct1 cITT 3ml 3r-R Ti cITT 
3ml -a "q'R :fTT ~ I ~: 9"TT ~ ~ ~ 
3ml ar:R ~ cITT 3ml ~ ~ -a 9 cnf ~ 
~ ,~~3rnlcfiT~cmTt? 

(a) 9:2 

(b) 11: 3 

(c) 12: 5 

(d) 13: 4 

81. ~ 3fu: m<R/'-l~lfl l'R ·$ R+-.-Jfc1fuia ~ 
#-a <fiTrf m ~ t!~R,a ~ t ? 

(a) ~ : ~tltfl l' l<.lll ~ 

(b) Cfi I cfi &i ,s : ~c.&1 iR.cfi '-l~ lfl l' I{ 

(c) ~ : ~ >f~T@ '-l~lfl l'I{ 

82. ~ I cITT ~ II ~ t!~ fc1 ct ~ 3:ftt 
~ ~ ~ ~ .~ cJic. qif wwr qi"( 

~'3m~: 

~I 
(~) 

A.m(~) 

B.t<fOf 

C. ~l'-l l~c. 

D.91~1-tic. 

~: 

A B 

(a) 1 2 

(b) 3 2 

(c) 3 4 

(d) 1 4 

~II 
(~) 

1. 3llffiR 

2.~ 

3. ~ 

C D 

4 3 

4 1 

2 1 

2 3 
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76. Which one of the fo llowing instruments 

is used for measuring moisture cunte11t 
of air ? 

(a) Hydrometer 

(b) Hygrometer 

(i:-) Hypsometer 

( d) Pycnometer 

77. Bronze is an alloy of copper and 

(a) nickel 

(b) rron 

(c) tin 

(d) aluminium 

78. The length of a rectangle is increased by 
60%. By what per cent would the width 
have to be decreased to maintain the 
same area ? 

(a) 37·5 % 

(b) 60% 

(c) 75% 

(d) 120% 

79. Two pipes A and B can fill a tank in 
12 minutes and 16 minutes respectively. 
If both the pipes are opened together, 
then after how much time, B should 
be closed so that the tank is full in 
9 minutes ? 

(a) 3f min 

(b) 4 min 

(c) 4f min 

(d) 4¾ min 
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80. One year ago, a father was four times 
W:, uh.I us his suu. Aftel' six years his age 
exceeds twice his son's age by 9 years. 
The ratio of their present age is 

(a) 9: 2 

(b) 11 : 3 

(c) 12 : 5 

(d) 13 : 4 

81. Which one of the following pairs of 
Island and Sea/Ocean is NOT c01Tectly 
matched? 

(a) Cyprus Mediterranean Sea 

(b) Falkland : Atlantic Ocean 

(c) Chagos : North Pacific Ocean 

(d) Islas Cocos : Indian Ocean 

82. Match List I with List II and select the 
correct answer using the code given 
below the Lists : 

List I 
(Mineral) 

A. Zinc 

B. Gold 

C. Chromite 

D. Pyrite 

Code : 

A 

(a) 1 

(b) 3 

(c) 3 

(d) l 

B 

2 

2 

4 

4 

List II 
(Mine) 

1. Amjhore 

2. Sukinda 

3. Zawar 

4. Hutti 

C D 

4 3 

4 I 

2 1 

2 3 

A - U-GIA-JBOS 



30 

83. '7\.-p1°11, 2011 ~ ~, m ~ (>mr 

~~"CR m) ~ ~u * ~ * ~ 
cnT ~ ~ ~, Pt '-'1 fM<9 a # ~ m m 
i 7 

(a) i:rl~ ~ - +lt."lf ~~T - ,:h'l< I© o;g -

~ 3ITT: qi~ 

(b) +lv:f ~~T - i:rf'~ ~ -~ 3ITT: 
qi~ -'3\·F(l@ U,s 

(c) '3'ff(l©U,s - 1:fl~ ~ - +lv:f ~~T -

~3Wcfi~ 

(d) i:rl~ ~ - '3'cRl@O-s - +lv:f ~~T -

~ 3ITT: qi~ 

84. ~cfil~"B~'1@3lfuq:;tfcR~ i I 

Wcnf cliT(Ufi 

( a) 3lfuq:; ~ cRTcr 

8s. mu wrr c~c1,c1 ,c:{) cfiT { 1(-l lqHcfi rrm, 

H'-'i~f@a # ~ ffl m i ? 

U-GIA-JBOS - A 30 

86. ~ ~ 1:F'(,jq(-l # miRT 3W ~ 
cfi1 ~ cf@ ~ cliUTT cfi1' 'cfcTTcfi' rfm' 

H'-'i~ruia # ~ ~ wn ? 

(d) r!Tffi~ 

87. ~ Wq cfiT ~oll'-111-~, ~ ~ cf<TT 

'3ct-l Rifa ~ "CR q R:ct Rfa -.=r@ mm i ? 

(a) ~ ~ 3ITT: W fclfch{Ui 

(b) ~ ~ 3W 1Tl1TT fclfch{UI 

(c) ~ W 3ITT: 1Tl1TT fclfch(UI 

Cd) ~, & 3ITT: 1Tl1TT Pcifch<u, 

88. 2880 cn1 fcf'Jl 1Ma ~ ~ cf-.f ~ cffffi 
~ ~ H'-'i~f©a it~ ffl mt ? 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

89. 1:J,cfi ~~ ~ 4X3 cfi1 984 #~"CR 

1:J,cfi "=ITT: ~ ~ 13 YT~llB mm i I ~ 

13Y7, 11 ~ fcl'Jl1Ma ~i, m (X+Y)clil 

lIT-1 cf<TT ~ ? 

(a) 15 

(b) 12 

(c) 11 

(d) 10 
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83. As per Census 20 11 , which one of the 

fullowing is the correct descendi11g orde1· 
of States in India in respect of sex ratio 
(female per thousand of males) ? 

(a) West Bengal - Madhya Pradesh -
Uttarakhand - Jammu and Kashmir 

(b) Madhya Pradesh - West Bengal -
.Jammu and Kashmir - Uttarakhand 

(c) Uttarakhand - West Bengal -
Madhya Pradesh - Jammu and 
Kashmir 

(d) West Bengal - Uttarakhand -
Madhya Pradesh - Jammu and 
Kashmir 

84. Liquid water is denser than ice due to 

(a) higher surface tension 

(b) hydrogen bonding 

( c) van der Waals forces 

( d) covalent bonding 

85. Which one of the fo llowing is the 
chemical name of heavy water ? 

(a) Hydrogen oxide 

(b) Deuterium dioxide 

(c) Deuterium oxide 

(d) Heavy hydrogen oxide 

31 

86. Who among the following has coined ,the 
term 'Quark ' , the furn.ia1mmlal parlldes 
that make up protons and neutrons in an 
atomic nucleus ? 

(a) Richard Feynman 

(b) Munay Gell-Mann 

( c) Albert Einstein 

(d) Niels Bohr 

87. The mass number of an element is NOT 
changed when it emits 

(a) Alpha and Beta radiations only 

(b) Alpha and Gamma radiations only 

(c) Beta and Gamma radiations only 

(d) Alpha, Beta and Gamma radiations 

88. Which one of the following is the 
smallest numb.er by which 2880 must be 
divided in order to make it a perfect 
square? 

(a) 3 

(b) 4 

(c) 5 

(d) 6 

89. A 3 digit number 4X3 is added to 984 
to get a 4 digit number 13Y7. If 13Y7 
is divisible by 11, then what is the value 
of (X+Y) ? 

(a) 15 

(b) 12 

(c) 11 

(d) 10 
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90. ~ ~ Pct~ 1ii'T ~ i 3ITT: ~ ~ ffl 
t en Pi A fM{ga 4 -« cfii.1 m cfl2:f.l RT~ 
~-«~i? 

(a) ~m~t 
(b) ~ ~ fcRrrm i 
( C) ~ • fcRrrzjf t 
( d) ~ fcRrr?;ff .,cfq; i 

91. +rRf 2017 #, ~#~~-rl.1141614 ~, 

RAH rul a it -« m ~ ~ cfiT ~ lfAcf 

~ cflT ~~ lflfT ? 

(a) ~@ ~-31 am: 1FlT 

(b) 1FlT am:~ 
(c) WgfT 3ITT: 'n GI cl \l 

(d) ~am:~ 

92. ~~~~~ii HAHfuia 4-«~ 
m cfl2:f.l ~ rl1ff i ? 

(a) ~ # fiffhT ~ITTR ~ ~ ~ 
~ <tt m,r ~, ~ -iliilGl(l, 

' 
'4 Q 161 cl 1 :s1 am. ~4 a cl Isl 3frnl <tt 1l'<ft 

(b) '1!4fGl\l ~ #, fcfim ~ ~ 
3f~ ~-« ~ ~ ~ 
'-11 Hch1 ~~cflT~ (~)WT 

~m, "ul1'\-~~W@R~~ 
'3'd<Glltl ma ~ 

(c) '-I Ql6-icl l:S1 ~ #, ~ ~ ~ 
cfi'l (~11~1ehlll) mm m 

(d) <lla,.u:s1 ~ ~, a:iRl,,1a ~ ~ 

tfIB ~ cflT ~ ~ ~ m 3fu: 
~ ll-~ ~ ~,1a 11 ~ ~ mu 
'3'd<Gllll ma ~ 
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93. wm, ~R1£t'i cRt ~ ~ ~' RAHf©a 4-« 
cfil'1 m 3ffcf~ G~~ t ? 

I . >l"cfll~ft ~ I 

2. ~3ITT:3Tcm1G$~ I 

3. 6% "<tt * ~clo1a I I 

4. -3tso1q;R_~tirlf ~ ~ M 'iicfi I a 1qs:i 1...i 

20°C-« 21°C~ m I 
.fR ~ -m ~ cflT "WWr cf){ ~ ~ 

~: 

(a) ~ 1, 2 am: 4 

(b) ~ 2 3ITT: 4 

(c) ~ 1 3ITT: 3 

(d) 1, 2, 3 3ITT: 4 

94. 4isfll4'4 ~' RAfuf@a #-« -Pcm wr cflT 

cflT{cfl i ? 

( a) fll.=i 1s:i 1a 1 

(b) ~-~ 

(c) ~ 

~~ (d) ~ '~-x'~ 

95. cl l~+is61 # ~ ,tt ~ '-IQctj~f t 
~~~~i 

( a) 9{1JI·, 1'11-A am: 9<1al·◄ 1 '11-B Pct fch<:01 
qi1' 

(b) m 9<1Jl·,1'11 -B fctfch<:01 qi1' 

(c) m 3TcRm-B fcifch{OI qi1' 

( d) frr.fcr 9 < I ai·' I rtl -B Pct fch<o I am: 3TT1ffi 

9<1&1'◄ 1'11 -A fctfch<:01 ~ 
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90. If all students are boys and all boys are 

dancers, then which one of the following 
statements is definitely hue ? 

(a) All dancers are boys 

(b) All boys are students 

( c) All dancers are students 

( d) All students are dancers 

91. In March 2017, a High Cou1t in India 
had accorded the status of living human 
entities to which two of the following 
rivers ? 

(a) Brahmaputra and Ganga 

(b) Ganga and Yamuna 

(c) Yamuna and Godavati 

(d) Krishna and Kaveri 

92. Which one of the following statements 
about land tenure system is NOT 
correct? 

(a) During the British rule m India 
three categories of land tenure 
system, viz. Zamindari, Mahalwari 
and Ryotwari were introduced 

(b) Under Zamindari system, land was 
held by one person or at the most 
by a few joint owners who were 
responsible for the payment of land 
revenue 

( c) Under the Mahalwari system, the 
agricultural lands belonged to the 
Government 

(d) Under Ryotwari system, the 
individual holders had the permanent 
rights over land and were directly 
responsible for payment of land 
revenue 
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93. Which of the following are the necessary 
conditions for the growth of coral reefs ? 

1. Photic conditions 

2. Clean and sediment free water 

3. Sea salinity of 6% 

4. Tropical sea water with temperature 
of 20°C to 21 °C 

Select the correct answer using the code 
given below : 

(a) 1, 2 and 4 only 

(b) 2 and 4 only 

(c) 1 and 3 only 

( d) 1, 2, 3 and 4 

94. Which one of the foUowing diseases is 
caused by Cadmium pollution ? 

(a) Minamata 

(b) ltai-itai 

(c) Fluorosis 

(d) Blue baby syndrome 

95. Presence of ozone in the atmosphere is 
impo1tant because it absorbs 

(a) ultraviolet-A and ultraviolet-B 
radiations 

(b) ultraviolet-B radiations only 

(c) infrared-B radiations only 

(d) outgoing ultraviolet-B radiations and 
incoming ultraviolet-A radiations 
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96. NPP (~~ S11~fcttfci2.1)/(~~ 
'3~1~cfidl) ~ J·i:ri:ktJ-1 ~ t' ? 

(a) J tSOlcfifl~r~ qrf 

(b) ~ (~) 

" (c) Ul:fi 

( d) ~ 3ITT ~ cITTft ~ 

97. fcRTT~m ("fCft~m) cf~~~ 
9llfcF(Ollll cflcfiT cfiT 3ftlftf,'f cf7:l"I cfit\C1 Id I -~ ? 

(a) 31 le! lft ljci ~~ 

(b) ~ 

(c) ~ 

(d) ~ 

98. "C% 'Cffi!ITT #, 25% 3fR:r~ TTTUIB # ~ 
~3ITT 12% ~#~~I~ 10% 

3fR:r~ G1"iTT ~ # ~ ~ 3ITT: 292 

~ G1"iTT ffl"llT # "9"IB (~) ~, -al 
W!ITT ~ ~ crITT ¥f ~ ctt mr· 
frlAR-iftla ~ U q;r,f "ID i ? 

(a) 300 

(b) 400 

(c) 460 

(d) 500 

99. A 'cfil 3TT!f cfiT 5%, B 'cfil 3TT!f ~ 15% ~ 
~ t 3ITT B 'cfil 3TT!f cfiT 1 0%, C cfil 
~~20%~~t17-lf¾ccRt~ 

2,000 ~ i, "ffi A, B 3m: C c6l ~ 
3TT!f fcna.ft t ? 

(a) 20,000~ 

(b) 18,000~ 

(c) 14,000~ 

(d) 6,000 ffl 
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100. ~ n ~'11,'-lcfi ffl3TT cfiT !!01'11lie1 "C% 
(~)tm~~i 

(a) 'C% ~'1 k'-lcfi ~ 

(b) n "B"rcf~ 

1 
(c) n+ - ~ ~ n 

(d) n umc:rcfimrTTft 

101. ~~ ~ ~ GfR # f.iJ-rlRifuia # u 
chT<lUcfi~~t? 

1. ~1:%~~ (wrr m) ~t I 
2. ~'C%~~% I 

3. ~ ~ ~ cfiT 'C% ~ t I 

4. ~ 3TTcfil~n e111t1 Ra I it ( ~ 
. f~l'-l;i(fl) cfiT 'C% ~ t I 

~ ~ -rm ~ cfiT m ~ trITT ~ 
~: 

(a) l 3ITT 4 

(b) ~ 1 3ITT 2 

(c) 2, 3 3ITT 4 

(d) 1, 2 3m: 3 

102. fu'-l,e1ll ~ GfR "B f.iAf~fuia "B u cffR m 
qi~~~%? 

(a) ~ ~ cfB"1' '9cfu (rm~ '-ll'3rc.rl) ~ 

(b) ~ ~-31~rl@cfi ~ t 
(c) fu'-l le1ll ~ 3lJl ~~T (f½J:11&1'4'1 ~ 

~, HFF) f%'-lle1ll cITT ~ it 
3@11 qi"@ i 

(d) ffr~ 3ITT~~ ft'-llc1ll 'B~ 
~~i 
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96. NPP (Net Primary Productivity) is highest 

for 

(a) tropical forests 

(b) swamps 

(c) reefs 

(d) woodland and shrub land 

97. Study of a single species and the 
environmental factors in its habitat is 
called 

(a) Genecology 

(b) Synecology 

(c) Autecology 

( d) Ethology 

98. In an examination, 25% of the 
candidates failed in Mathematics and 
12% failed in English. If 10% of the 
candidates failed in both the subjects 
and 292 candidates passed in both the 
subjects, which one of the following is 
the number of total candidates appeared 
in the examination ? 

(a) 300 

(b) 400 

(c) 460 

(d) 500 

99. 5% of income of A is equal to 15% of 
income of B and 10% income of B is 
equal to 20% of income of C. If the 
income of C is Rs. 2,000, then what is 
the total income of A, B and C ? 

(a) Rs. 20,000 

(b) Rs. 18,000 

(c) Rs. 14,000 

( J) Rs. G,000 
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100. If the product of n positive numbers is 
· unity, then lhcir sum is 

(a) a positive integer 

(b) divisible by n 

1 
(c) equal to n + n 

(d) never less than n 

1 Oil. Which of the following statements about 
the Equatorial region are correct ? 

I. It is a megathermal region 

2. It is a sclerophyll region 

3. It is a region of high development 

4. It is a region of aerial streamlets 

Select the correct answer using the code 
given below : 

(a) 1 and 4 

(b) 1 and 2 only 

(c) 2, 3 and 4 

(d) 1, 2 -and 3 

102. Which one of the fo1lowing statements 
about the Himalayas is NOT correct ? 

(a) They are young fold mountains 

(b) They have geosynclinal rocks 

(c) Himalayan frontal faults (HFF) 
separates Himalaya from Tibet 

(d) Indus and Sutlej ri_vers form 
antecedent drainage in Himalaya 
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103. ~ m ~ ~ ~ ~ ~ HAHrula 
#u~m~~~i? 

(a) ~m 3fR ~ 3W~ 

(b) ~ cl I ~pi Ml # rf+TT ~ -cp;rrn '"ifa 
(c) ~~#~furn ~~cfiT, 

3rR ~ ~liP-iMI if '3'1SUf rll-f ~ cfiT 

3t~clt;1 

(d) HARHJll 3t~(-l,co, 3fR -39f<fa<Jll 
3f1TTROT ~ ~ (-l'-!rqlj ( rn1,R2ch) 

W-1-fcr 

104. fcnm ~ cfiT ~ ~ fcRra 
~%? 
(a) "119 ~ fcrn~ SI lcJ1@ch cfTB U 
(b) 3Rr ~ ~ ~ (-1 t;"1141 ~tT u 

(c) ~ 9f<.w:t@41 # fcnm "1lcl"11@ ~ 

rfA"lfcrer '39 W-lnT 
(d) tTm 3RT~~~~ 31~7..llrnilll 

105. rcfiW ~ cl I a lcl{OI # ~ ~ ~TTll" 
Sllfol41 ~ fcntT >fcf1R '3fi.~forn ~ '1l'TcTT 

% ? 

(a)~ 

(b) 9ft91c;9 (9R>i11cl) 

(c) ~ "1lcl"11c1 

(d) ~ 

106. ~-3llcf~ (csl14lil-ACfi4i:tR-f) ~ "« ~ 
'3R!fuia ma-r % ? 

(a) cfifrf m-,c#~ 
(b) t; IPichl{ch -00 ~ _;if;izjP-la ~ 

(c) ~ ~ ~ 1-ITTZrn U, ~., ~ 
~~~~~lTT?fTcfiT~ 

(d) fcnmticf~"'-!"Tum#~~msln# 

~ 
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107. ~~~cfiRUT~cfra~~~ 
~ii HAHrula #u~m~~i? 

(a) ~ frn:;, 3ITT: ~ c1 19'-11'11 '9'"{ ~ 

'f111<ffl l~-s .fl" ~ 1-fP-11 ~ ~ % 

, (b) ~ f.:n:,, 3ITT: ~ a 19 '41 ..i, '9'"{ 1 , ~~lGI .-1 

_;jlcff1 1~1 ~ ~ l={l?fT ~ ~ % 

( c) ~ frn:;, a 14 '-1 , r1 ~ cf1TeR l-i I rfl cffi 1 ~-s 
3W ~ a 19'-I Ir! '9'"{ r! l~?J"1rl _;l!cffi 1~1 
~~lTI?fl~~i 

(d) ~ frn:;, a 19'4 H '9'"{ r1 l~?J'51r! 31 lcffl 1~-sl 

3rR ~ dl9'-IH '9'"{ ~ l-\l1lcffl l~ 

~~lTI?fl~~i 

108. ~ ~ "'1 GT >IBlmlm X 3fu: Y ~ ~ 
1l<TT m, # 4000 c!lZ~~ ~ I lflii~ 

fcfi ll<IGR fcfillT ~ ~ c!1Z -zyn ~n:rr 
#u~~~tf&l# m , ~~ft yq;)~ 

~ cfTit # U 40% cTTc~ ~ 3ITT:~ ~ 
11ml~"q;"T3fcRcfliTm? 

(a) 500 cnc: 

(b) 800 c!1Z 

(c) 1200 cnc: 

( d) 1600 cl1c: 

109. 7 .sfi'-ll ◄ l d ~ m.s-TT3rt cfiT 3ftml M % I~ 

3f1@13~~m~~"ch\m~, 

m afura 

(a) 319RclRfa -~ % 

(b) 1 • s am '1l'TcTT % 

(c) 2am'1l'Tct'T% 

( d) 3 am '1tTcTT % 
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103. Which one of the following is NOT a 

favourable condition for occurrence of a 
thunderstorm ? 

(a) Conditional and convective instability 

(b) Adequate supply of moisture in the 
lower atrnusphert: 

(c) Advection of cold dry air in the 
lower troposphere and wann moist 
air in the upper troposphere 

(d) A synoptic situation of low level 
convergence and upper level 
divergence 

104. The ecological niche of an organism 
relates to 

(a) specific habitat of the organism 

(b) symbiotic relationship with other 
organisms 

( c) diverse occurrence of a species 
under different conditions 

(d) its interaction with all other 
orgamsms 

105. Free swimming macroscopic animals in 
an aquatic environment are referred to 
as 

(a) Plankton 

(b) Periphyton 

(c) Benthos 

(d) Nekton 

106. The term Biomagnifications is referred to 
as 

(a) increase in the body weight 

(b) uncontrolled growth of harmful 
organisms 

( c) accumulation of increasing amount 
of non-degradable pollutant through 
food chain 

(d) increase in the number of bacteria 
in a culture medium 
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107. Which one of the following statements 
about air pollution caused by diesel 
engines is correct ? 

(a) It produces large quantity of carbon 
monoxide at lower and high 
temperatures 

(L) IL µiuuul;t:S la1gt: 4uaulily uf uil1'u­
gen oxides at lower and high 
temperatures 

(c) It produces large quantity of carbon 
monoxide at lower temperature and 
nitrogen oxides at high temperature 

(d) It produces large quantity of nitro­
gen oxides at lower temperature 
and carbon monoxide at high 
temperatme 

108. In an election which was contested by 
two candidates, X and Y, 4000 votes 
were polled. Suppose that every vote 
was polled in favour of either of the two 
candidates. Candidate Y got 40% of vote 
polled and was defeated. What was the 
margin of defeat ? 

(a) 500 votes 

(b) 800 votes 

(c) 1200 votes 

( d) 1600 votes 

109. The average of 7 consecutive odd 
numbers is M. If the next 3 odd 
numbers are also included, the average 

(a) remains unchanged 

(b) increases by 1 · 5 

( c) increases by 2 

( d) increases by J 
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'Fli~T : 
3flit 3M efffi 'ffi,f >f~~T ~ <ft <TT-IT ~ '1\ 

3TT~t: 
~ ~ 1 ~ # "CfRr ~ ~ wr m~r 
(m~~+r) 

~/e~cnr 
2005-06 2006-07 2007-08 2008-09 2009-10 

WliR 

f.i.tfur 740 800 470 440 810 

~ 500 520 600 650 800 

00 420 480 500 600 750 

<iFl'f 440 500 550 600 660 

~ 800 900 980 1110 1080 

110. 2005-06 ~ 2009- l0(lq; ~ ~ # m~T # 
~>ffif~lcf~~? 

(a) 30% 

(b) 40% 

(c) 50% 

(d) 60% 

111. ~ 1fo; cJm #, wrr ~ # >lfu crf 3mIB 
m~rfcficRT% (m~~#)? 

(a) 490 

(b) 550 

(c) 580 

(d) 670 

112. HAR:iruia # ~ ~ ~ crf ~ ~' ~ 
m~T~~? 

(a) 2006-07 

(b) 2007-08 

(c) 2008-09 

(d) 2009-10 
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113. HAR:if@a # ~ ~ m, ~ (0·5 ppm~ 

c11B) 3{~ ~ Cful{l~-s cf@~~~ 

~1crcfilC1l'1 '39ajll q)l ~ m % ? 

(a) ~-tr~ 
(b) ~c!,T~ 

(c) ~ -tr Wcf@ 
(d) ~ cfll M 'ffi ~ I{ ~ 

114. ch listT{.--s'-i cfiT ~ ~ ~ ~ ~ # 

mmt~ 
(a) ~ ~ 'tj l~cfidl ~ ~ % 
(b) ~>IBR~cfi+lmm% 
(c) ~ I {ltll4Rcfi ~~mm% 
(d) ~ ~ cfiol\ ~ % 

115. RAR:iruia ii-~~ m ~, i1c:t1fuclch ffli4l 
~ 619'e!R.d ~ ~%? 
(a) c:trlf9fa 3fcf~ 

(b) 1-<1 I ITT.ch ~ 

(c) ~ 'ffi~T 

(d) ~ 3fm~ 
116. ~~"Cfffi, ~~'1\ 1 ~ 6~t 

-tr ~ ~3TT ~ c;:~rf<TT 1Tm % 

••• • • • • 
•• 

• • 

• •• • •• • • • • • • 
• 

~i:nm~3Tc:!BTT#mrcncft.f~mcf@T 
~~m, cll'3,9\~~'1<:~m-tr 
tf&TT<flfTW<TT? 
(a) 1 

(b) 1 3{~ 5 

(c) 5 

(d) 2 3l~ 5 
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Direction : 
The next three items are based on the 
info1malion provided belo.w : 

Investment in various industries/sectors across 
five years (in Rupees Hundred Crore) 

Tyµc uf 
2005-06 2006-07 2007-08 2008-09 2009-10 industry/sector 

M1nuf1rturi11a 7111) Rnn ~1n ~~n ¥In 
Electrical 500 520 600 650 800 

Services 420 480 500 600 750 

Mining 440 500 550 600 660 

Others 800 900 980 1110 1080 

110. What is the percentage increase in 
investment in the Electrical sector from 
2005-06 to 2009-10 ? 

(a) 30% 

(b) 40% 

(c) 50% 

(d) 60% 

111. During the given years, what is the 
average investment per year for the 
services sector (in Rupees Hundred 
Crore) ? 

(a) 490 

(b) 550 

(c) 580 

(d) 670 

112. During which one of the following years, 
w;;ts the total investment maximum ? 

(a) 2006-07 

(b) 2007-0'8 

(c) 2008-09 

(o) 2009-1 o 
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113. Which one of the fo11owing is a major 
effect of long term consumption of 
d1inking water containing little (less than 
0·5 ppm) or no fluo1ide ? 

(a) Cavity of tooth 

(b) Erosion of nail 

(c) Deformation of bone 

(d) Mottling of tooth 

114. Carborundum is used as an abrasive, 
because it 

(a) has high thermal conductivity 

(b) has low coefficient of expansion 

(c) has high chemical stability 

(d) is extremely hard 

115. Which one of the following is NOT 
decomposed by bacte1ial action ? 

(a) Vegetable remains 

(b) Plastic mate1ials 

(c) Animal carcasses 

(d) Wastes of flowers 

116. Two positions of a dice with 1 to 6 dots 
on its side are shown below : . 

• • • ••• • • • ••• • • • • • .. 
• • • • • 

• 

If the dice is resting on the side with 
three dots, what will be the number of 
dots on the side at the top ? 

(a) 1 

(b) 1 or 5 

(c) 5 

(rl) ? nr .c; 
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A E B 

D G C 

~ <ft wft ~ ~' ~ 3TTlRf ~ cflf ~ 
t ~ msm ~ i ? <~ 1flTT i fcfi 
ABCD ~ cflf t 3fu: E, F, G, H~ ~ 
~ 1:{Uf ~ i) 
(a) 14 

(b) 16 

(c) 20 

(d) 21 

11 s. HJ.,-J R:l fui a ~ "tR fcRm: ~ : 

n = [(6374)1793 x(625)317x(313)49] 

HJ.,-JR:lf@a ~ ~ ~ m 1J;cfi ~, n ~ ~ 

~ "tR i ? 

(a) 0 

(b) 1 

(c) 2 

(d) 5 

119. ~ I cn1 ~ II ~ W!fua ~ 3TT< 
~~ffl~~~qilffl~ 
~ ~ ~: 

~I 
(~ffl~) 

A. ~('(111~< 

B.~ 

D.3ITTWT 
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2. ~R41011 

3.~~T 

4. c:fi1 fc.c:fi 
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~: 

A B C .o 
(a) 2 3 4 

(b) 2 3 4 

(c) 4 3 1 2 

(d) 4 1 3 2 

120. ~ I cn1 ~ II~ ~~fua ~ 3TT< 
~~ffl~~ ~qil ffl ~ 
~~~: 

I 

D 
·o 

D 
.□ 

~I 

(<l~lll~) 

A.~ 

B.~W 
c. ~ 

D.~ 

~II 
(.:11~~!:4 -q ~) 

·;• -~-~ .. "·, }:. 
- - -·.; 

~: 

A B C D 

(a) 2 1 3 4 

(b) 2 3 1 4 

(c) 4 1 3 2 

(d) 4 3 1 2 

-
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117. Consider the fo l lowing figure : 

A E B 

H - ~--+-----, F 

D G C 

What is the number of rectangles which 
a re not squares in U1e above figure ? 
(Given that ABCD is a square and 
E, F , G, H are mid-points of its sides) 

(a) 14 

(b) 16 

(c) 20 

(d) 2 1 

118. Consider the following number : 

n = [(6374)1793x(625)3l 7x(3 13)49] 

Which one of the following is the digit at 
the unit place of n ? 

(a) 0 

(b) 1 

(c) 2 

(d) 5 

119. Match List I w ith List II and select the 
coITect answer using the code given below 
the Lists: 

List I List II 
(Bird Sanctua,y) (State) 

A. Sultanpur 1. West Bengal 

B. Kulik 2. Haryana 

C. Nawabganj 3. Uttar Pradesh 

D. AttiVe1'i 4. Karnataka 
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Code 

A B C D 

(a) 2 1 3 4 

(b) 2 3 1 4 

(c) 4 3 l 2 

(cl) 4 3 2 

120. Match List I with List II and select the 
conect answer using the code given 
below the Lists : 

D . n 
n 

.n 

List I 
(National Park) 

A. Corbett 

B. Neora Valley 

C. Betla 

D. Kanha 

List II 
(Location in map) 

:.:·. .... ~ -·· 
. . • w 

:,. --~; 
w 

Code 

A B C D 

(a) 2 1 3 4 

(b) 2 3 1 4 

(c) 4 1 3 2 

(d) 4 3 l 2 

A - U-GIA-JBOS 
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121. f.v"'1R;if@a qi~~ fcr-.m: ~ : 

1. 250 cm~ ~ cfltl "cflB ~ 

2. ~ dl9'11rl 25°C - 27°C 

3. 3fltlcf3l$T75%~3lm 

4. 'I&1 ~ tffi .;@ ~ 

i:Mf4@ ~ frtAR9Rsla >l"cfiTU ~ -a, ffl m 
~ ,aq(\ffi cfiT ~ cfK"ffi t ? 

(b) JISlllcfiR:aim 3fu t1G1qaff 

(c) JISlllcfiftaim ~ qofq1Jl 

(ct) J1S01ctiR:aim ~ t1G1qaff 

122. m\Cf ~ ;;,-1;,,1@41 ~ ~u ~ RAR:lf©a 
-q -a ffl ~ qi~ tfITT t ? 

1. ~ ;;,r1;;,1@lli ~ ~T 3th. J·cR1@0-s 

~ 1TTlft ~ t 
2. ~,~~p;,,1'1\l@lli~~ 

-cnrft~ t 

4. llW "1'1"11@4i ~ ~ ~, ~ 
~'-11"'4~ ~~T ~ "'4~<=1U:11 '9"~ t 

(a) ~ l ~ 3 

(b) ~2 ~ 4 

(c) ~ 1, 2 ~ 4 

(d) 1, 2, 3 ~ 4 
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123. '3ffir-~' (~ m ~) ~ ~u ~ 

HAR:lf<sla ~ ~fcr-.m: ~: 

1. w ;jtjl~l'jrull!l ~ 'CfR->f~ITTf 
'-l~ltll ◄ l<Jll ~ (Wcfi+f-~fBfq:;cfi ~) 

~~~ 'm'1f"R1'1fmt 

2.~~~~~t 

3. ~ 3mTTU ~ ("Cfo"R) mm cfiT ~ 

~t 
~ ~ ~ ~ cfiT wwr ~ ~ ~ 
~: 

(a) ~ I 

(b) ~ 1 ~ 2 

(c) ~2 ~ 3 

(d) 1, 2 ~ 3 

124. ~ m Gd~ -:ll<=1~a t? 
(a) fufc?q;'"' 

12s. frtAf&tf<ija ~ -a ffl m ~' ~ ef~ 
3f&1T~T ~ 3fclWrcf t ? 

(a)~~ 

(b) 31 lt~f&tll I 

(c) ~ 

(d) ~m 
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121. Consider the following statements : 

1. Areas where rainfall exceeds 
250cm 

2. Annual temperature 25°C - 27°C 

3. Average humidity exceeds 75% 

4. Trees do not shed the leaves 

To which one of the following types of 
vegetation does the above represent ? 

(a) Tropical wet evergreen 

(b) Tropical semi evergreen 

( c) Tropical moist deciduous 

( d) Tropical dry evergreen 

122. Which of the following statements 
related to tribes in India are correct ? 

1. Tharu tribes are found in Uttar 
Pradesh and Uttarakhand 

2. Irula, Chenchu and Sumali tribes 
are found in Kerala 

3. Garasia tribes are found in Goa 

4. Gaddi tribes are nomadic herders of 
Jammu & Kashmir and Himachal 
Pradesh 

Select the correct ·answer using the code 
given below : 

(a) 1 and 3 only 

(b) 2 and 4 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 
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123. Consider the following statements about 
'Ring of Fire' : 

1. It is also known as circum-Pacific 
belt of volcanoes 

2. It is an active seismic zone 

3. It is a zone of divergent plate margin 

Select the correct answer using the code 
given below : 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

124. The Bum La Pass is located in 

(a) Sikkim 

(b) Arunachal Praqesh 

(c) Himachal Pradesh 

(d) Uttarakhand 

125. Which one of the following is located at 
the southernmost latitude ? 

(a) South Africa 

(b) Australia 

(c) Chile 

(d) Polynesia 
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Examination : CAPF(AC) 2017 

Series: A Subject GAi 

Max. marks 250 No. of Items dropped: 01 
Items to be taken for scorin : 124 

1 C · 16 D · 31 C 46 D - 61 C . 76 8 -. 91 
2 C 17 D 32 o· 47 A 62 C 77 C 92 
3 8 18 D · 33 A 48 D 63 8 78 A . 93 8 
4 A · 19 B' 34 8 49 8 64 C 79 8 94 8 
5 C 20 8 35 o· 50 8 65 C· 80 B 95 110 o' 125 C 
6 8 . 21 8 36 C ; 51 c:. 66 C·· 81 C 96 111 8 '#.( 

7 A' 22 C .,. 37 C , '52 D 67 A· · 82 c· 97 C 112 D . ··- -./4:_ 

8 8 23 B 38 A ' 53 .. A 68 · D -, 83 C 98 8 . 113 A , "l:' 

9 D 24 C .. 39 D 54 A 69 o · 84 8 , 99 8 . 114 D 
.. 

I ,. 

10 A ( 25 X 40 A 55 C 70 D 85 C 100 D 115 ~ - . ~· 

11 D 26 c'" 41 B 56 D , 71 D 86 B 101 A-· 116 B 
12 8, 27 C 42 B 57 C 72 A' 87 G. 102 C 117 8 
13 B 28 B · 43 8 58 A 73 D 88 C 103 c · 118 Ai 

_;. ~ 

14 B 29 C' 44 C 59 A,. 74 A- 89 D 104 A 119 A 
15 D 30 B' 45 C 60 D - 75 C 90 D, 105 D 120 D 

,. - ( 
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